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SSC MTS 2023 Tier 1 Sept 6 Shift 1 Question Paper with Answers

[Roll Number

Candidate
Name

Exam Date 06/09/2023
Exam Time 9:00 AM - 11:00 AM

Subiect MTS Non Tech Havaldar CBIC and CBN
) Examination 2023

Section : Numerical and Mathematical Ability

Q.1  Acertain sum is to be divided between A, B, and C in the ratio 2 : 5 : 7. But by mistake, it was divided in the ratio 5: 2
7. Thus B loses by #150. Find the sum.

Ans 10 2700
X 2. 8BS0
2 33900
X 4. 3625

Question ID : 264330156342
Option 1 ID : 264330612768
Option 2 ID : 264330612769
Option 3 ID : 264330612770
Option 4 ID : 264330612767
Status : Answered
Chosen Option : 1

Q.2 Four books and eight pens were bought for 3260. If the average price of a book is 35, then the average price of a
pen would be:

Ans X 1. %31
> 2. {5
3 %15
x4 %10

Question ID : 264330153868
Option 1 ID : 264330602936
Option 2 ID : 264330602935
Option 3 ID : 264330602937
Option 4 ID : 264330602938
Status : Answered
Chosen Option : 3
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Q3 The fourth proportional to 1.5, 4.8 and 8 is:

Ans 1. 256
X 2 26.5
X3 226
X4 245
Question ID : 264330153770
Option 1 ID : 264330602543
Option 2 ID : 264330602545
Option 3 ID : 264330602546
Option 4 ID : 264330602544
Status : Answered
Chosen Option : 1
Q.4 Xcantype 8 pages in 3 minutes. Y can type 3 pages in 5 minutes. Working together, how many pages can they type in
15 minutes?
Ans X' 1. 42
X2 40
X3 46
o 4. 49
Question ID : 264330156239
Option 11D : 264330612356
Option 2 ID : 264330612355
Option 3 ID : 264330612357
Option 4 ID : 264330612358
Status : Answered
Chosen Option : 4
Q.5 The average weight of 20 students of a class was 30.5 kg. After 6 new students joined
the class, its average weight increased by 2 kg. Find the average weight of the 6 new
students who joined the class (rounded off to one decimal place).
Ans X 1.30.5kg
X 2.32.5kg
«" 3.39.2 kg
< 4.38.5kg
Question ID : 264330157323
Option 1 ID : 264330616657
Option 2 ID : 264330616656
Option 3 ID : 264330616658
Option 4 ID : 264330616655
Status : Answered
Chosen Option : 3
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Q.6 4 batsman makes 96 rups in the 13 innings and thus his average increases by 3. Find his average after 13 innings.

Ans X' 1. 65
X2 50
X3 70
o 400
Question ID : 264330155987
Option 1 ID : 264330611349
Option 2 ID : 264330611347
Option 3 ID : 264330611350
Option 4 ID : 264330611348
Status : Answered
Chosen Option : 4
Q.7 Surjeat alone can finish an assignment in 8 days and Manjeet alone can finish the same assignment in 6 days. Surjeer
and Manjeet decided 1o do this assignment by working on alternate days, starting with Surjeet. In how many days will
the assignment be finished?
Ans w1 7 days
X 2. 8.5 days
X 3. 8 days
X 4. 7.5 days
Question ID : 264330154134
Option 1 ID : 264330603999
Option 2 ID : 264330604002
Option 3 ID : 264330604001
Option 4 ID : 264330604000
Status : Answered
Chosen Option : 1
Q8  Two numbers are in the ratio of 2 : 5. Their LCM is 80. Find the numbers.
Ans 1. 18,38
X2 14,36
« 3. 16,40
X4 16,38
Question ID : 264330156206
Option 1 ID : 264330612226
Option 2 ID : 264330612225
Option 3 ID : 264330612224
Option 4 ID : 264330612223
Status : Answered
Chosen Option : 3
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Q.9 Twao trains of equal length are running on parallel lines in the same direction at 36 km/h and 54 km/h. The faster
train passes the slower train in 48 seconds, The length of each train (in m] is:

Ans X' 1. 80
X2 160
X3 240
« 4 120
Question ID : 264330156490
Option 1 ID : 264330613349
Option 2 ID : 264330613350
Option 3 ID : 264330613347
Option 4 ID : 264330613348
Status : Answered
Chosen Option : 3
Q.10 If the sides of a triangle are in the ratio 3 : 4 : 5 and its perimeter is 24 m. then find the area of the triangle.
Ans X132 m?
X2 37 m?
X3 16 m?
v 4 24 m?
Question ID : 264330156065
Option 1 ID : 264330611661
Option 2 ID : 264330611662
Option 3 ID : 264330611659
Option 4 ID : 264330611660
Status : Not Answered
Chosen Option : --
Q.11 The pie chart shows the percentage of students studving different courses in a college.
The ratio between the number of students studying in BCA and B.se, if the total oumber of students is 1200, is:
Ans X 1. 14 :27
X2 32:63
X3 7:9
wa 2:3
Question ID : 264330154067
Option 1 ID : 264330603731
Option 2 ID : 264330603733
Option 3 ID : 264330603734
Option 4 ID : 264330603732
Status : Answered
Chosen Option : 4
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Q.12

Simplify the following expression.

4522+ 2+ 12+ 70+ 35 +04 +

g8+ 1.5 = 3+1

Chosen Option :

Ans « 1. 50
<2 50.5
X3 48.5
K4 545
Question ID : 264330153830
Option 1 ID : 264330602785
Option 2 ID : 264330602783
Option 3 ID : 264330602786
Option 4 ID : 264330602784
Status : Answered
Chosen Option : 1
Q13 Find the simple interest (in ) on 5,400 for 7 years at 4% per annum.
Ans 1 1,512
X2 1,230
X3 1,380
<4 1,172
Question ID : 264330155744
Option 1 ID : 264330610379
Option 2 ID : 264330610381
Option 3 ID : 264330610380
Option 4 ID : 264330610382
Status : Answered
Chosen Option : 1
Q.14 What is the length of the longest pole that can be placed in an indoor stadivm 24 m long. 18 m wide and 16 m high?
Ans X' 1. 383 m
2 34 m
K3 42m
K4 36m
Question ID : 264330154108
Option 1 ID : 264330603896
Option 2 ID : 264330603898
Option 3 ID : 264330603895
Option 4 ID : 264330603897
Status : Not Answered
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Q.15 study the given table and answer the question that follows.

The table shows the centre and post-wise number of candidates.

Chosen Option :

Centre Officer Clerk Supervisor Field Officer
Mumbai 12000 18000 8000 200
Chennai 8000 10000 6000 100
Hyderabad 10000 12000 7000 150
Bengaluru 9000 6000 5000 80
Kolkata 14000 18000 6500 120
Which centre has the highest number of candidates?
Ans X 1. Mumbai
+ 2. Kolkata
« 3. Chennai
# 4. Hyderabad
Question ID : 264330155978
Option 1 ID : 264330611313
Option 2 ID : 264330611312
Option 3 ID : 264330611314
Option 4 ID : 264330611311
Status : Answered
Chosen Option : 2
Q.16 A thief is spotted by a policeman from a distance of 108 m. The thief starts running and the policeman chases him. If the
speed of the thief and policeman are 21 km'h and 23 kmvh, respectively. then how far will the thief have to run (in m)
before he is overtaken by the policeman?
Ans X 1. 2534
X2 3121
X3 1216
W4 1134
Question ID : 264330154092
Option 1 ID : 264330603832
Option 2 ID : 264330603834
Option 3 ID : 264330603831
Option 4 ID : 264330603833
Status : Not Answered
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Ans

X 1. 3559
2. 3549
X 3. 3540
X 4 3449

Q.17 What is the difference between the compound interest, interest compounded half yearly on 272,000 for 1.5 vears at 10%
per anmum and its simple interest for 2 years at 5% per annum?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330154133
264330603996
264330603998
264330603997
264330603995
Not Answered

Ans

1. 2,500
X 2. 2,700
X 3. 2,400
X 4. 2,900

Q.18 The profit obtained by a vendor on selling geods at 22,200 is equal 1o 7/5th of the profit obtained by selling the same
goods at 23,000, What is the cost price (i Z) of the goods?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330156104
264330611817
264330611816
264330611818
264330611815
Not Answered

Ans

X 1. 3800

2 %1250

X 3. 22,500
X 4 21,500

Q.19 A spends 20% of the daily income. If the expenditure is 2250, then the daily income is:

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330154045
264330603646
264330603644
264330603645
264330603643
Answered

2
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Q.20 By selling a book ar some price, Ankita gains 10%. If the book is sold at twice the price, then what will be the gain
percentage for Ankita?

Ans X 1. 140%
X 2. 100%
« 3. 120%
X 4 125%
Question ID : 264330155708
Option 1 1D : 264330610238
Option 2 ID : 264330610235
Option 3 ID : 264330610236
Option 4 ID : 264330610237
Status : Answered
Chosen Option : 2
Section : Reasoning Ability and Problem Solving
Q.1 LCWT isrelated to WEPV in a certain way based on the English alphabetical order. In the same way, HBER is related to
IDGT. To which of the following is OSCT related to, following the same logic?
Ans X 1. PUDJ
X 2. RVEH
X 3. QVEI
+ 4. QUEH
Question ID : 264330151682
Option 1 ID : 264330594357
Option 2 ID : 264330594355
Option 3 ID : 264330594356
Option 4 ID : 264330594358
Status : Answered
Chosen Option : 4
Q.2 What will come in the place of “7" in the following equation, if ‘+ and ‘— are interchanged and “<" and ‘+" are
interchanged?
11 x3-13+3+26="7
Ans & 1. 80
X270
X3 40
X 4 60
Question ID : 264330155674
Option 1 1D : 264330610101
Option 2 ID : 264330610102
Option 3 ID : 264330610100
Option 4 ID : 264330610099
Status : Answered
Chosen Option : 1
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Q.3

Ans

What should come in place of *?" in the given series?

24 103 498 2473 12348 7
< 1. 60983
X 2. 63487
< 362457
4 61723
Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :
Chosen Option :

1 264330151455
264330593447
1 264330593450
264330593449
1264330593448
Not Answered

Q.4

Select the set in which the numbers are related in the same way as are the numbers of the following sets.
(NOTE : Operations should be performed on the whole numbers, without breaking down the numbers into its
constituent digits. E.g. 13 — Operations on 13 such as adding / subtracting /multiplying etc. to 13 can be performed.

Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed)
(8,720, 9)

(16, 800, 5)
Ans X 1. 7,125, 8
X 2 13,169, 5
X 3. 14,238, 5
o 4. 18, 1260, 7
Question ID : 264330151611
Option 1 ID : 264330594071
Option 2 ID : 264330594072
Option 3 ID : 264330594074
Option 4 ID : 264330594073
Status : Answered
Chosen Option : 4
Q.5 What should come in place of 7 in the given series based on the English alphabetical order?
LPA, PSY, TVW, XYU, ?
Ans X' 1 CBR
« 2. BBS
X 3. CDS
X 4 DCR
Question ID : 264330155801
Option 1 1D : 264330610608
Option 2 ID : 264330610607
Option 3 ID : 264330610609
Option 4 ID : 264330610610
Status : Answered
Chosen Option : 2
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follow(s) from the statement(s).

Statements: All buildings are chalks. No chalk is a toffee.
Conclusions:

(1) No building is a toffee.

(1) All chalks are buildings.

Ans % 1. Both conclusions (1) and (I1) are follows.

+ 2. Only conclusion (1) is follows.
& 3. Neither conclusion (1) nor (1) is follows.

#< 4. Only conclusion (11) is follows.

Q.6 Read the given statement(s) and conclusions carefully. Assuming that the information given in the statements is true,
even if it appears to be at variance with commonly known facts, decide which of the given conclusions logically

Question ID : 264330154432
Option 1 ID : 264330605194
Option 2 ID : 264330605191
Option 3 ID : 264330605193
Option 4 ID : 264330605192
Status : Answered
Chosen Option : 2
Q.7 Inacertain eode language, “NAME' is coded as ‘2473 and ‘MEND' is coded as *7642°. What is the code for *D* in the
given code langnage?
Ans X' 1q 4
2 6
X3 7
X4 2
Question ID : 264330151707
Option 1 ID : 264330594458
Option 2 ID : 264330594457
Option 3 ID : 264330594456
Option 4 ID : 264330594455
Status : Answered
Chosen Option : 2
Q.8 If4 November 2021 is a Thursday, then what will be the day of the week on 13 May 2023?
Ans X 1. Monday
X 2. Sunday
X 3. Friday
« 4. Saturday
Question ID : 264330154358
Option 1 ID : 264330604897
Option 2 ID : 264330604898
Option 3 ID : 264330604896
Option 4 ID : 264330604895
Status : Answered
Chosen Option : 4
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related to, following the same logic?

Q.9 8is related to 40 following a certain logic. Following the same logic, 3 is related to 15. To which of the following is 52

Ans X' 1. 261
X< 2. 262
« 3. 200
X 4. 263
Question ID : 264330151587
Option 1 ID : 264330593976
Option 2 ID : 264330593977
Option 3 ID : 264330593975
Option 4 ID : 264330593978
Status : Answered
Chosen Option : 3
Q.10 1Ina certain code language, 'CHORAL' is coded as *OHCLAR' and *FOREGO’ is coded as ‘ROFOGE'. Whar is the
code for *GATTEY" in the given code language?
Ans X 1. GYALLE
X 2. ELLAGY
3. LAGYEL
X 4 YELLAG
Question ID : 264330155809
Option 1 ID : 264330610641
Option 2 ID : 264330610642
Option 3 ID : 264330610639
Option 4 ID : 264330610640
Status : Answered
Chosen Option : 3
QM What should come in place of ? in the given series?
64 6l 55 46 34 7
Ans . p 1 19
X2 24
X3 15
X4 2]
Question ID : 264330151722
Option 1 ID : 264330594517
Option 2 ID : 264330594516
Option 3 ID : 264330594518
Option 4 ID : 264330594515
Status : Answered
Chosen Option : 1
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Q.12 If ‘T stands for *+. *T" stands for *»', ‘K’ stands for *+ and *L" stands for *-°. what will come in place of the question
mark (7) in the following equation?
IDSL(T2K9T430L(9T4)="

Ans 1104
X2 114
X 3. 106
X4 126

Question ID : 264330151798
Option 1 ID : 264330594822
Option 2 ID : 264330594820
Option 3 ID : 264330594819
Option 4 ID : 264330594821
Status : Answered
Chosen Option : 1

Q.13 E.F.G, H Iand T are sitting around a circular table facing the center. T sits immediare left of T G sits second to the right
of I E sits second 1o the right of G. H sits second to the left of F.
Who sits third 1o the right of E?

Ans X' 1. F
2 H
X3 1
X4 ]

Question ID : 264330154472
Option 1 ID : 264330605354
Option 2 ID : 264330605351
Option 3 ID : 264330605353
Option 4 ID : 264330605352
Status : Not Answered

Chosen Option : --

Q14 YWhat should come in place of *?” in the given series?

77 754 7 75224 752224 7522224 75222224
Ans X 1. 7544

X2 7254

X 3. 7425

v 4. 7524

Question ID : 264330151443
Option 1 ID : 264330593400
Option 2 ID : 264330593401
Option 3 ID : 264330593402
Option 4 ID : 264330593399
Status : Not Answered

Chosen Option :
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statements.

Conclusion It Some biscuits are cakes.

Conelusion IT: Some puddings are bisenits.
Ans

X 3. Only conclusion (I) is follow.
X 4. Only conclusion (IT) is follow.

Statements: All cakes are biscuits. Some biscuits are tarts. All tarts are puddings.

X 1. Weither conclusion (I) nor (II) is follow.

+ 2. Both conclusions (I) and (II) are follow.

Q.15 Read the given starements and conclusions carefully. You have to take the given statements to be true even if they seem
to be at varance from commonly known facts, You have to decide which conclusion's logically follow/s from the given

Question ID : 264330155937

Option 1 ID : 264330611153

Option 2 ID : 264330611154

Option 3 ID : 264330611151

Option 4 ID : 264330611152

Status : Answered
Chosen Option : 2
Q.16  select the correct mirror image of the given figure when the mirror is placed at M as shown below.
M
Fe3P7g
N
A

" x1.3gV9e33
X231d634
v338V9&91
x4+ 3\Vd€sq

Question ID : 264330151525

Option 1 ID : 264330593728

Option 2 ID : 264330593730

Option 3 ID : 264330593729

Option 4 ID : 264330593727

Status : Answered
Chosen Option : 3
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B

H|H

z|O

6 badbie BlU
u B H| u |3t
Z O H Z|6
Ans
6 Z
X1.ﬁ, D
B U
w Z
72 |H 6
U ]
6 pAe
X3 B z
] u
6 Z
xelte B O
U H

Q.17 Which figure should replace the question mark [?) if the following figure series were to be continued?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330154740
264330606425
264330606424
264330606423
264330606426
Not Answered

Ans i GPY
X 2. FPX
X 3. EOX
X 4. FOY

UDM, XGP. AJS, DMV, ?

Q.18 What should come in place of ? in the given series based on the English alphabetical order?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330155764
264330610460
264330610461
264330610462
264330610459
Answered

1
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Ans

Q19 Tdentify the figure that completes the pattern (rotation is NOT allowed).

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330154517
264330605532
264330605533
264330605534
264330605531
Answered

4

TOY, UQB, VSE, WUH, ?
Ans X' 1 YVT

X 2. ZWI

X3 YIII

4 XWEK

Q.20 What should come in place of ? in the given series based on the English alphabetical order?

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

: 264330155774

264330610499

1 264330610502

264330610501

1 264330610500

Answered
4
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Section : General Awareness

QA1

Ans

The Guide is a 1958 novel written in English by the Indian author .

X 1. Mulk Raj Anand
X 2. Khushwant Singh
+ 3. RK Narayan

# 4 Nirad Chaudhuri

Chosen Option :

Question ID : 264330155452
Option 1 ID : 264330609211
Option 2 ID : 264330609212
Option 3 ID : 264330609213
Option 4 ID : 264330609214
Status : Answered
Chosen Option : 1
Q.2 The stretch between Mumbai to Goa of western coast of India is known as
Ans X 1. Coromandel coast
" 2. Konkan coast
& 3. Malabar Coast
#< 4. Kannada Plain
Question ID : 264330161495
Option 11D : 264330633310
Option 2 ID : 264330633309
Option 3 ID : 264330633308
Option 4 ID : 264330633307
Status : Answered
Chosen Option : 2
Q.3 Which of the following autobiographies is NOT correctly matched with the concerned
cricketer?
Ans # 1. Playing it My Way — VVS Laxman
#< 2. The Test of My Life: From Cricket to Cancer and Back — Yuvraj Singh
#5 3. Straight from the Heart — Kapil Dev
X 4. Cricket Delightful — Mushtaq Al
Question ID : 264330161753
Option 1 ID : 264330634341
Option 2 ID : 264330634342
Option 3 ID : 264330634339
Option 4 ID : 264330634340
Status : Answered

1
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Q.4 What does EI Nifio refer to?

Ans  # 1. Hot water current
#< 2. Pressure water current
#5 3. High air pressure

< 4. Low air pressure

Question ID : 264330161310
Option 1 ID : 264330632567
Option 2 ID : 264330632568
Option 3 ID : 264330632570
Option 4 ID : 264330632569
Status : Answered
Chosen Option : 1
Q.5 Where was the 13t" Hockey India senior women’s national hockey championship held?
Ans " 1. Andhra Pradesh
#< 2. New Delhi
25 3. Punjab
< 4. Karnataka
Question ID : 264330161155
Option 1 ID : 264330631951
Option 2 ID : 264330631953
Option 3 ID : 264330631952
Option 4 ID : 264330631954
Status : Not Answered
Chosen Option : --
Q.6 Which Article of the Constitution of India provides for a Council of Ministers with the
Prime Minister at the head to aid and advice the President in the exercise of the
President's functions?
Ans X 1.Article 77
o 2. Article 74
£ 3. Article 71
5 4. Article 72
Question ID : 264330161288
Option 1 ID : 264330632482
Option 2 ID : 264330632481
Option 3 ID : 264330632479
Option 4 ID : 264330632480
Status : Answered
Chosen Option : 2
Q.7 Which of the following is a key objective of Micro Finance Institutions in India?
Ans X 1. Providing loans exclusively to women entrepreneurs
< 2. Encouraging large-scale industrialisation
#< 3. Maximising profits for shareholders
«# 4. Promoting financial inclusion and poverty alleviation
Question ID : 264330157288
Option 1 ID : 264330616517
Option 2 ID : 264330616518
Option 3 ID : 264330616515
Option 4 ID : 264330616516
Status : Answered
Chosen Option : 4
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Q.8

Ans

is one of the most important festivals of Kamakhya temple of

Guwahati. It is held every year during the monsoon (mid-June) season, when the

temple is closed for three days for tantric rites.
«" 1. Ambubachi

X 2.Bihu
#< 3. Baishagu
& 4. Me-Dum-Me-Phi

Question ID : 264330160821
Option 1 ID : 264330630617
Option 2 ID : 264330630615
Option 3 ID : 264330630616
Option 4 ID : 264330630618
Status : Answered
Chosen Option : 1
Q.9 In which city is the Kamakhya temple situated?
Ans X 1.Dehradun
#5 2. Bhopal
«" 3. Guwahati
5 4. Indore
Question ID : 264330160779
Option 1 ID : 264330630450
Option 2 ID : 264330630447
Option 3 ID : 264330630448
Option 4 ID : 264330630449
Status : Answered
Chosen Option : 3
Q.10 Which of the following statements best defines a Micro Finance Institution (MFI)?
Ans X 1.MFls are investment firms that cater exclusively to high-net-worth individuals.
«" 2. MFlIs are non-profit organisations that provide financial services to low-income
individuals and small businesses.
#5 3. MFls are banks that provide loans only to large corporations.
< 4. MFls are government agencies that regulate the microfinance sector.
Question ID : 264330157284
Option 1 ID : 264330616502
Option 2 ID : 264330616500
Option 3 ID : 264330616499
Option 4 ID : 264330616501
Status : Answered
Chosen Option : 4
Q.11 Mumbai Indians defeated which team to win Women’s Premier League in March, 20237
Ans X 1. UP Warriors
#5 2. Royal Challengers
«# 3. Delhi Capitals
X 4. Gujarat Giants
Question ID : 264330158352
Option 1 ID : 264330620770
Option 2 ID : 264330620768
Option 3 ID : 264330620769
Option 4 ID : 264330620767
Status : Answered
Chosen Option : 2
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Q.12 The Songi Mukhawate dance of

dancers who represent Narasimha, an aspect of Lord Vishnu.

Ans X 1. Madhya Pradesh
< 2. Jharkhand

" 3. Maharashtra

celebrates the victory of truth over
falsehood. The name of the dance is derived from the two lion masks worn by two

& 4. Gujarat
Question ID : 264330160802
Option 1 ID : 264330630541
Option 2 ID : 264330630542
Option 3 ID : 264330630539
Option 4 ID : 264330630540
Status : Not Answered
Chosen Option : --
Q.13 Who among the following is best known for creating a fusion style of dance by adapting European theatrical
techniques to Indian classical dance?
Ans T
X 1. Yamini Krishnamurthy
+ 2. Uday Shankar
# 3. Gopi Krishna
# 4. Sonal Mansingh
Question ID : 264330155522
Option 1 ID : 264330609494
Option 2 ID : 264330609492
Option 3 ID : 264330609491
Option 4 ID : 264330609493
Status : Not Answered
Chosen Option : --
Q.14 Where was the Hindustan Socialist Republican Association founded in 1928?
Ans X 1.Kanpur
25 2. Amritsar
25 3. Lucknow
& 4. Delhi
Question ID : 264330162324
Option 1 ID : 264330636625
Option 2 ID : 264330636624
Option 3 ID : 264330636623
Option 4 ID : 264330636626
Status : Answered
Chosen Option : 4
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Q.15 Which process is sometimes called "reduction division" because it reduces the
number of chromosomes to half the normal number to form sperm and eggs?

Ans X 1. Amitosis
«¥ 2. Meiosis
#< 3. Cytokinesis

#5 4. Karyokinesis

Question ID : 264330161089
Option 1 ID : 264330631689
Option 2 ID : 264330631690
Option 3 ID : 264330631687
Option 4 ID : 264330631688
Status : Answered
Chosen Option : 2
Q.16 Which chemical element with atomic number 35 has a dark reddish-brown liquid with a
burning pungent odour?
Ans X 1. Tennessine
#< 2. Chlorine
25 3. Astatine
«" 4. Bromine
Question ID : 264330161061
Option 1 ID : 264330631578
Option 2 ID : 264330631575
Option 3 ID : 264330631577
Option 4 ID : 264330631576
Status : Answered
Chosen Option : 2
Q.17 In which year did Pakistan win the Kabaddi (Circle style) World Cup?
Ans X 1.2016
& 2.2014
" 3.2020
&5 4.2013
Question ID : 264330158235
Option 1 ID : 264330620301
Option 2 ID : 264330620300
Option 3 ID : 264330620302
Option 4 ID : 264330620299
Status : Not Answered
Chosen Option : --
Q.18 The North—-South corridor, which is a part of the Golden Quadrilateral super highways,
links which two cities of India from the following?
Ans X 1. Delhi and Chennai
25 2. Leh and Chennai
#5 3. Jammu and Kanyakumari
" 4. Srinagar and Kanyakumari
Question ID : 264330161489
Option 1 ID : 264330633284
Option 2 ID : 264330633283
Option 3 ID : 264330633286
Option 4 ID : 264330633285
Status : Answered
Chosen Option : 1
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Q.19 For which community was a journal Rast Goftar started for the purpose of social-
religious reforms?

Ans X 1.Sikhs
25 2. Muslim
" 3. Parsis
< 4. Hindu
Question ID : 264330160892
Option 1 ID : 264330630900
Option 2 ID : 264330630901
Option 3 ID : 264330630899
Option 4 ID : 264330630902
Status : Answered
Chosen Option : 3
Q.20 26 January was selected as the date of the inauguration of the Constitution because
on the same date in 1930, the Indian National Congress had revealed
Ans X 1. Quit India Movement
" 2. Purna Swaraj Movement
#< 3. Namak Satyagraha
25 4. Khilafat Movement
Question ID : 264330161346
Option 1 ID : 264330632712
Option 2 ID : 264330632711
Option 3 ID : 264330632713
Option 4 ID : 264330632714
Status : Answered
Chosen Option : 2
Q.21 What is the name of the scheme launched by Uttar Pradesh government to boost milk
production?
Ans " 1. Nand Baba Milk Mission
< 2. Gokul Milk Mission
2 3. Krishna Balram Milk Mission
< 4. Gua Ras Mission
Question ID : 264330158329
Option 1 ID : 264330620677
Option 2 ID : 264330620678
Option 3 ID : 264330620675
Option 4 ID : 264330620676
Status : Answered
Chosen Option : 2
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Q.22 What is the source of Directive Principles of State Policy?
Ans X 1. The instrument of instructions from GOI Act 1919

" 2. The instrument of instructions from GOI Act 1935
#< 3. The instrument of instructions from GOI Act 1909

< 4. The instrument of instructions from GOI Act 1947

Question ID : 264330161397
Option 1 ID : 264330632916
Option 2 ID : 264330632917
Option 3 ID : 264330632915
Option 4 ID : 264330632918
Status : Answered
Chosen Option : 2
Q.23 How many classical dance forms does the Sangeet Natak Akademi in India officially
recognise, as of August 2021?
Ans X 1.9
X 26
K 3.7
4.8
Question ID : 264330160786
Option 1 ID : 264330630478
Option 2 ID : 264330630475
Option 3 ID : 264330630476
Option 4 ID : 264330630477
Status : Answered
Chosen Option : 4
Q.24 According to the Human Development Report 2021-22, what is the rank of India among
191 countries?
Ans X 1.117
< 2.180
X 3.148
" 4.132
Question ID : 264330160167
Option 1 1D : 264330628010
Option 2 ID : 264330628007
Option 3 ID : 264330628008
Option 4 ID : 264330628009
Status : Answered
Chosen Option : 4




www.prepp.in

Q.25 Which Indian musical legend is credited with composing Talas such as Trimukhi. Panchamulkhi, Saptanukhi and

MWavanmlchi?

Ans 1. M Balamuralikrishna
X 2. Bade Ghulam Ali Khan
# 3. KJ Yesudas
X 4. Pandit Jasraj

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

264330155464
264330609260
264330609261
264330609262
264330609259

: Not Answered
Chosen Option :

Section : English Language and Comprehension

Q.1 Select the most appropriate meaning of the underlined idiom.

The Indian team had its back against the wall, but managed to fight back.

Ans X 1.In extreme joy or exhilaration
# 2. Stuck in a difficult circumstance with no escape
# 3. Forced to indulge in propaganda
#5 4. Throwing the opposition off guard

Question ID : 264330153142
Option 1 ID : 264330600127
Option 2 ID : 264330600129
Option 3 ID : 264330600128
Option 4 ID : 264330600130
Status : Answered
Chosen Option : 2
Q.2 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
This is the first time / | ate such / a tasty cake.
Ans  # 1.|ate such

25 2. This is the first time

25 3. No error

2 4. atasty cake
Question ID : 264330153616
Option 1 ID : 264330601948
Option 2 ID : 264330601947
Option 3 ID : 264330601950
Option 4 ID : 264330601949

Status : Answered
Chosen Option : 3
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words.
A lover of books

Q.3 Select the option that can be used as a one-word substitute for the given group of

Ans X 1. Philosopher
< 2. Librarian
& 3. Teacher
«" 4. Bibliophile
Question ID : 264330152737
Option 1 ID : 264330598549
Option 2 ID : 264330598548
Option 3 ID : 264330598547
Option 4 ID : 264330598550
Status : Answered
Chosen Option : 4
Q.4 Select the most appropriate option to fill in the blank.
Tom waited until to start working on his term paper but managed to finish
it just in time.
Ans X 1.the twelfth hour
25 2. the thirteenth hour
& 3. the tenth hour
«" 4. the eleventh hour
Question ID : 264330151885
Option 1 ID : 264330595161
Option 2 ID : 264330595162
Option 3 ID : 264330595160
Option 4 ID : 264330595159
Status : Answered
Chosen Option : 4
Q.5 Select the most appropriate synonym of the given word.
Cordial
Ans X 1.Unfriendly
«" 2. Friendly
< 3.Brave
25 4. Aromatic
Question ID : 264330151918
Option 1 ID : 264330595287
Option 2 ID : 264330595288
Option 3 ID : 264330595290
Option 4 ID : 264330595289
Status : Answered
Chosen Option : 2
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Q.6 Select the most appropriate meaning of the given idiom.

Bigger fish to fry
Ans X 1. To barely get something done

«" 2. Having something more important to take care of
#< 3. Having work more than one’s capacity

5 4. To be similar to one’s parents in some way

Question ID : 264330153013
Option 1 ID : 264330599626
Option 2 ID : 264330599624
Option 3 ID : 264330599623
Option 4 ID : 264330599625
Status : Answered
Chosen Option : 2
Q.7 There is a spelling error in the given sentence. Select the option that contains the
INCORRECTLY spelt word.
The hungery goblin scratched the grammar book with a feather.
Ans 1. hungery
25 2. scratched
< 3. feather
25 4. grammar
Question ID : 264330152836
Option 1 ID : 264330598935
Option 2 ID : 264330598936
Option 3 ID : 264330598938
Option 4 ID : 264330598937
Status : Answered
Chosen Option : 1
Q.8 Select the most appropriate option to fill in the blank.
The rusty door made a screeching noise.
Ans X 1.low
< 2. soft
¥ 3. harsh
25 4. smooth
Question ID : 264330152638
Option 1 ID : 264330598157
Option 2 ID : 264330598158
Option 3 ID : 264330598156
Option 4 ID : 264330598155
Status : Answered
Chosen Option : 3
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Q.9 Select the most appropriate option to fill in the blank.

The tone of his voice seemed to
Ans X 1.incise

that he knew more than he was letting on.

& 2. intent
25 3.inculcate
o 4. imply
Question ID : 264330151864
Option 1 ID : 264330595077
Option 2 ID : 264330595078
Option 3 ID : 264330595075
Option 4 ID : 264330595076
Status : Not Answered
Chosen Option : --
Q.10 Select the most appropriate ANTONYM of the given word.
Enormous
Ans & 1.Tiny
2 2. Inapposite
25 3. Irrelevant
& 4. Gigantic
Question ID : 264330151876
Option 1 1D : 264330595124
Option 2 ID : 264330595126
Option 3 ID : 264330595125
Option 4 ID : 264330595123
Status : Answered
Chosen Option : 4
Q.11 There is a spelling error in the given sentence. Select the option that contains the
INCORRECTLY spelt word.
The questionnaire appeared to be misrably designed.
Ans X 1.designed
#< 2. questionnaire
4" 3. misrably
& 4. appeared
Question ID : 264330152839
Option 1 1D : 264330598950
Option 2 ID : 264330598947
Option 3 ID : 264330598949
Option 4 ID : 264330598948
Status : Answered
Chosen Option : 3
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Q.12 Select the most appropriate option to fill in the blank.

COVID-19 structural weaknesses in health systems worldwide and
negatively impacted individuals, societies, and economies.

Ans X 1.concealed
& 2. laid
& 3. hit
«" 4. revealed
Question ID : 264330151903
Option 1 ID : 264330595227
Option 2 ID : 264330595228
Option 3 ID : 264330595229
Option 4 ID : 264330595230
Status : Answered
Chosen Option : 4
Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
She will handling the baby as tenderly as possible.
Ans X 1.wills handle
25 2.shall handles
" 3. will handle
25 4. will handled
Question ID : 264330153483
Option 1 ID : 264330601450
Option 2 ID : 264330601447
Option 3 ID : 264330601449
Option 4 ID : 264330601448
Status : Answered
Chosen Option : 3
Q.14 Parts of the following sentence have been given as options. Select the option that
contains an error.
A old woman suddenly laughed, sounding just like an amused hen.
Ans X 1.like an amused hen
& 2. sounding just
«" 3. Aold woman
75 4. suddenly laughed
Question ID : 264330153606
Option 1 ID : 264330601910
Option 2 ID : 264330601909
Option 3 ID : 264330601907
Option 4 ID : 264330601908
Status : Answered
Chosen Option : 1
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Q.15 Select the most appropriate ANTONYM of the given word.

Annoy
Ans 1. Gratify
X 2. Vex
25 3. Irritate
25 4. Thrill
Question ID : 264330152593
Option 1 ID : 264330597977
Option 2 ID : 264330597976
Option 3 ID : 264330597975
Option 4 ID : 264330597978
Status : Answered
Chosen Option : 4
Q.16 Four words of the following sentence have been underlined and given as options.
Select the option that contains a spelling error.
All life depends on a healthy planet, but the interwoven systems of atmosphere,
oceans, watercourses, land, ice cover and biosphere, which form the natural
environment, are threatned by human activities.
Ans X 1.interwoven
" 2. threatned
25 3. biosphere
& 4. watercourses
Question ID : 264330151928
Option 1 ID : 264330595327
Option 2 ID : 264330595330
Option 3 ID : 264330595329
Option 4 ID : 264330595328
Status : Answered
Chosen Option : 1
Q.17 Select the most appropriate meaning of the given idiom.
A storm in a teacup
Ans " 1. Much excitement over something trivial
#< 2. Asignal for upcoming storm
2 3. Easy money
#$ 4. Suffering in silence
Question ID : 264330156386
Option 1 ID : 264330612945
Option 2 ID : 264330612943
Option 3 ID : 264330612946
Option 4 ID : 264330612944
Status : Answered
Chosen Option : 1
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Ans

Varun has to
" 1. sacrifice

& 2. imitate

< 3.reverse

Q.18 Select the most appropriate option to fill in the blank.

his studies for the sake of his ill father.

& 4. applaud
Question ID : 264330153551
Option 1 ID : 264330601703
Option 2 ID : 264330601705
Option 3 ID : 264330601704
Option 4 ID : 264330601706
Status : Answered
Chosen Option : 1
Q.19 Parts of the following sentence have been given as options. Select the option that
contains an error.
Vikram is very stronger than | am.
Ans  # 1. very stronger
X 2. 1lam
#5 3. Vikram is
< 4.than
Question ID : 264330152798
Option 1 ID : 264330598784
Option 2 ID : 264330598786
Option 3 ID : 264330598783
Option 4 ID : 264330598785
Status : Answered
Chosen Option : 2
Q.20 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
You are always try with jump over the wall.
Ans X 1.trying in jumping
& 2. try to jump
# 3. trying to jump
25 4. tried with jump
Question ID : 264330153475
Option 1 ID : 264330601415
Option 2 ID : 264330601416
Option 3 ID : 264330601418
Option 4 ID : 264330601417
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in the blanks.

Kasturi went to the garden looking for her mother. Her dog Rex was waiting (1)_____ her.
Kasturi picked up a stick and threw it. Rex (2) the stick and brought it back. Kasturi
ran (3)___ the house. Rex chased her. Kasturi ran through the garden and Rex (4)____ her.
Mother yelled at both of them. She told them to stay (5) of the garden and play
somewhere else. Kasturi apologised to her mother. She went for a bike ride while Rex ran
next to the bike.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1.with

X 2. by
X< 3. to
" 4. for

Question ID : 264330152950
Option 1 ID : 264330599375
Option 2 ID : 264330599378
Option 3 ID : 264330599377
Option 4 ID : 264330599376
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in the blanks.

Kasturi went to the garden looking for her mother. Her dog Rex was waiting (1)_____ her.
Kasturi picked up a stick and threw it. Rex (2) the stick and brought it back. Kasturi
ran (3)___ the house. Rex chased her. Kasturi ran through the garden and Rex (4)____ her.
Mother yelled at both of them. She told them to stay (5) of the garden and play
somewhere else. Kasturi apologised to her mother. She went for a bike ride while Rex ran
next to the bike.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.chases

< 2. throws
5 3. threw
¥ 4. chased

Question ID : 264330152951
Option 1 ID : 264330599380
Option 2 ID : 264330599382
Option 3 ID : 264330599379
Option 4 ID : 264330599381
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in the blanks.

Kasturi went to the garden looking for her mother. Her dog Rex was waiting (1)_____ her.
Kasturi picked up a stick and threw it. Rex (2) the stick and brought it back. Kasturi
ran (3)___ the house. Rex chased her. Kasturi ran through the garden and Rex (4)_____ her.
Mother yelled at both of them. She told them to stay (5) of the garden and play
somewhere else. Kasturi apologised to her mother. She went for a bike ride while Rex ran
next to the bike.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans X 1.in

«# 2. around
< 3.round
< 4. about

Question ID : 264330152952
Option 1 ID : 264330599386
Option 2 ID : 264330599384
Option 3 ID : 264330599383
Option 4 ID : 264330599385
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in the blanks.

Kasturi went to the garden looking for her mother. Her dog Rex was waiting (1)_____ her.
Kasturi picked up a stick and threw it. Rex (2) the stick and brought it back. Kasturi
ran (3)___ the house. Rex chased her. Kasturi ran through the garden and Rex (4)____ her.
Mother yelled at both of them. She told them to stay (5) of the garden and play
somewhere else. Kasturi apologised to her mother. She went for a bike ride while Rex ran
next to the bike.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans X 1.obey

&< 2. listen
«* 3. followed
X 4.came

Question ID : 264330152953
Option 1 ID : 264330599390
Option 2 ID : 264330599387
Option 3 ID : 264330599388
Option 4 ID : 264330599389
Status : Answered
Chosen Option : 3
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Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and

select the most appropriate option to fill in the blanks.

Kasturi went to the garden looking for her mother. Her dog Rex was waiting (1) her.

Kasturi picked up a stick and threw it. Rex (2)

the stick and brought it back. Kasturi

ran (3)___ the house. Rex chased her. Kasturi ran through the garden and Rex (4) her.

Mother yelled at both of them. She told them to stay (5) of the garden and play

somewhere else. Kasturi apologised to her mother. She went for a bike ride while Rex ran

next to the bike.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.

&< 1. of
&< 2.in
25 3. from
" 4. out

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330152954
264330599394
264330599392
264330599393
264330599391
Answered

4
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SSC MTS 2023 Tier 1 Sept 6 Shift 2 Question Paper with Answers

[Roll Number

Candidate
Name

Exam Date 06/09/2023
Exam Time 12:30 PM - 2:30 PM

Subiect MTS Non Tech Havaldar CBIC and CBN
) Examination 2023

Section : Numerical and Mathematical Ability

Q.1  Pradeep is twice as good as Sandeep to complere a work. Working together, they can finish a piece of work in 28 days.
In how many day can Pradeep alone finish the work?

Ans X 1. 46
X2 40
X3 44
4 42

Question ID : 264330156235
Option 1 1D : 264330612342
Option 2 ID : 264330612339
Option 3 ID : 264330612341
Option 4 ID : 264330612340
Status : Answered
Chosen Option : 4

Q.2  Arable showing the percentages of the total population of a town by age groups for the year 2016 is given below.

Age Group  Percent

__fin rs
up ta 15 a5
16-30 8.5
30-40 125
4050 2577
m 823

There are 2200 billion people below 40 years. How many billion people are in the age group 40-507

Ans X' 1. 417
X2 1167
X3 274
+ 4 859

Question ID : 264330153887
Option 1 ID : 264330603012
Option 2 ID : 264330603014
Option 3 ID : 264330603013
Option 4 ID : 264330603011
Status : Answered
Chosen Option : 4
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Q.3 Two coutainers of equal capacity are full of a mixture of millz and water. In the first container, the ratio of millk to water
is3: L1 and in the second container the ratio is 9 ; L1, If both the mixtures are mixed in a container, what is the resulting
ratio of milk to water?

Ans X 1. 87:197
X2 2]1:87
« 3. 03 : 187
X4 93:179
Question ID : 264330154078
Option 1 ID : 264330603777
Option 2 ID : 264330603775
Option 3 ID : 264330603778
Option 4 ID : 264330603776
Status : Answered
Chosen Option : 3
Q.4 InABC club, 88% members are men and 12% members are women. If the average age of the men is 25 vears and that
of the women is 50 vears. then whart is the average age of all the members?
Ans X' 1. 27
o2 28
X3 26
x4 29
Question ID : 264330156211
Option 1 ID : 264330612244
Option 2 ID : 264330612245
Option 3 ID : 264330612243
Option 4 ID : 264330612246
Status : Answered
Chosen Option : 2
Q.5 Ais 25% more than B, and B is 40% less than C. If C is 20% move than D, then by what percentage is A less than D7
Ans X' 1. 1204
X2 5%
X3 15%
o 4 10%
Question ID : 264330156515
Option 1 ID : 264330613450
Option 2 ID : 264330613447
Option 3 ID : 264330613448
Option 4 ID : 264330613449
Status : Answered
Chosen Option : 4
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Q.6  The following pie chart gives the monthly budgst of a tamily on the heads - Food. Rent. Education. Charity and
Savings. The total income of the family is ¥9,000. Study the pie chart carefully and answer the question.
= Food
= Rent
B Education
= Charity
o Savirgs
What is the total expenditure on the heads - rent. savings, food and education?
Ans 1. 28,200
2 8,100
X 3. 26,300
X 4. 26,500
Question ID : 264330153859
Option 1 ID : 264330602899
Option 2 ID : 264330602902
Option 3 ID : 264330602901
Option 4 ID : 264330602900
Status : Answered
Chosen Option : 2
Q.7 Two tankers contain 850 litres and 680 litres of oil. Find the maxinmm capaciry of a container which can measure the
oil of both tankers when used. an exact number of times.
Ans 1. 425 litres
« 2. 680 litres
& 3. 340 litres
4. 170 litres
Question ID : 264330155982
Option 1 ID : 264330611327
Option 2 ID : 264330611329
Option 3 ID : 264330611328
Option 4 ID : 264330611330
Status : Answered
Chosen Option : 4
@8 Find the mean proportional between 56 and 14.
Ans ¢ 1 472
X2 14
X3 35
4 28
Question ID : 264330153877
Option 1 ID : 264330602974
Option 2 ID : 264330602971
Option 3 ID : 264330602972
Option 4 ID : 264330602973
Status : Answered
Chosen Option : 4
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Q9 4 4nd B can finish a work in 52 days. A alope can finish this work in 8 days. A and B worked on alternate days
(starting with B) to finish this work. In how many days will the work be finished?

Ans X 1. 6 days
1
X 2. 11- days
3
3. 11 days
1
X 46— days
3
Question ID : 264330154135
Option 1 ID : 264330604003
Option 2 ID : 264330604005
Option 3 ID : 264330604004
Option 4 ID : 264330604006
Status : Answered
Chosen Option : 1
Q.10 The selling price of 10 articles is equal ta the cost price of 13 articles. What is the gain percentage?
Ans 1. 3094
X 2. 25%
X 3. 20%
<4 40%
Question ID : 264330156518
Option 1 ID : 264330613460
Option 2 ID : 264330613462
Option 3 ID : 264330613459
Option 4 ID : 264330613461
Status : Answered
Chosen Option : 1
Q.11 The simple interest on a certain sum for 4 years ar the rate of 15%: p.a. is 74,500 less than the simple interest on the
same sum for 6 vears at the same rate of interest. Find the sum.
Ans X 1. 212,000
X 2. 713,000
« 3. 15,000
X 4. 714,000
Question ID : 264330156227
Option 1 ID : 264330612307
Option 2 ID : 264330612308
Option 3 ID : 264330612310
Option 4 ID : 264330612309
Status : Answered
Chosen Option : 3
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Q12 The average of four consecutive odd numbers is 58. What is the lowest number?

Ans X 1. 51
X< 2 57
« 3. 55
X4 53
Question ID : 264330156252
Option 1 ID : 264330612407
Option 2 ID : 264330612410
Option 3 ID : 264330612409
Option 4 ID : 264330612408
Status : Answered
Chosen Option : 3
Q.13 Atwhatrate per annum will a sum of 26,400 fetch a compound interest (Compounded annually) of 1.344 in 2 years?
Ans & 1. 10%
X 2 8%
X3 12%
X4 5%
Question ID : 264330154130
Option 1 1D : 264330603983
Option 2 ID : 264330603985
Option 3 ID : 264330603984
Option 4 ID : 264330603986
Status : Answered
Chosen Option : 1
Q.14
Ifp:gq=5: Z,menpz— qz:p2+q2=?
Ans X' 1. 29:21
X2 4:3
X3 3:4
o4 21:29
Question ID : 264330154126
Option 1 ID : 264330603968
Option 2 ID : 264330603970
Option 3 ID : 264330603969
Option 4 ID : 264330603967
Status : Answered
Chosen Option : 4
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Q.15 Simplify the following.

15+5 of 3x4+8+12 of 4x12-4+5x20

Ans 2{}
X1 =
3
« 2. -10
X3 12
X411
Question ID : 264330158196
Option 1 ID : 264330620144
Option 2 ID : 264330620143
Option 3 ID : 264330620146
Option 4 ID : 264330620145
Status : Answered
Chosen Option : 2
Q.16 A man takes 30 minutes to cover a certain distance at the speed of 8 kmvh. If he walks at a speed of 16 kmvh, he covers
the same distance in:
Ans 1. 15 minutes
X 2. 30 minutes
X 3. 25 minutes
X 4. 20 minutes
Question ID : 264330156232
Option 1 ID : 264330612327
Option 2 ID : 264330612330
Option 3 ID : 264330612329
Option 4 ID : 264330612328
Status : Answered
Chosen Option : 1
Q.17 Metallic spheres of radii 6 em, 8 cm and 10 em, respectively, are melted o form a single solid sphere. Find the radius of
the resulting sphere {in cm).
Ans X' 1. 18
W2 12
X3 24
X4 16
Question ID : 264330153865
Option 1 ID : 264330602926
Option 2 ID : 264330602923
Option 3 ID : 264330602924
Option 4 ID : 264330602925
Status : Answered
Chosen Option : 2
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Ans X 1. 0024

Q.18 Each edge of a cube is increased by 30%. What will be the increase in its surface area?

X 2. 60%
X3 30%
o 4. 60%
Question ID : 264330154070
Option 1 ID : 264330603745
Option 2 ID : 264330603743
Option 3 ID : 264330603746
Option 4 ID : 264330603744
Status : Answered
Chosen Option : 4
Q.19 If there is a profit of 25% on the cost price of an article, the percentage of profit calculated on its selling price will be:
Ans 1. 20%
X 2. 15%
X 3. 18%
X 4. 22%
Question ID : 264330155961
Option 1 ID : 264330611244
Option 2 ID : 264330611245
Option 3 ID : 264330611246
Option 4 ID : 264330611243
Status : Answered
Chosen Option : 1
Q.20 Trains A and B start at the same time. Train A travels at the speed of 50 km/h from station P to station Q and train B
travels at the speed of 70 km/h from station Q, to station P. They cross each other after 1 hour 20 minutes. What is the
distance (in km) between station P and station Q?
Ans X 1. 180
X 2. 150
X3.140
« 4 160
Question ID : 264330155970
Option 1 ID : 264330611281
Option 2 ID : 264330611282
Option 3 ID : 264330611279
Option 4 ID : 264330611280
Status : Answered
Chosen Option : 4

Section : Reasoning Ability and Problem Solving
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Q.1 21is related to 86 following a certain logic. Following the same logic, 33 is related to 134. To which of the following is

25 related to, following the same logic?

Ans X' 1. 100
< 2 103
« 3. 102
<4101
Question ID : 264330151580
Option 1 ID : 264330593947
Option 2 ID : 264330593950
Option 3 ID : 264330593949
Option 4 ID : 264330593948
Status : Answered
Chosen Option : 3
Q.2 G means'— A means ! D means'+) B means ' then what will come in place of the question mark (7] in the following
equation?
12A7GI0DIR17=7
Ans X 1. 74
X2 03
« 3. 8l
X 4 37
Question ID : 264330154687
Option 1 ID : 264330606211
Option 2 ID : 264330606214
Option 3 ID : 264330606212
Option 4 ID : 264330606213
Status : Answered
Chosen Option : 3
@3 What should come in place of ? in the given series?
26 39 52 65 ? 91 104
Ans « 1. 78
X2 79
X3 81
X 4. 80
Question ID : 264330151542
Option 1 ID : 264330593795
Option 2 ID : 264330593796
Option 3 ID : 264330593798
Option 4 ID : 264330593797
Status : Answered
Chosen Option : 1
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Q.4 Inacertain code language. ‘BLAME' is coded as "CMBNF' and ‘CHANGE' is coded as *“DIBOHF . What s the code
for '‘DESERT in the given code language?
Ans X 1. EGTGSV
X 2. FHSGTV
3. EFTF5U
X 4. FGRFST
Question ID : 264330155808
Option 1 ID : 264330610635
Option 2 ID : 264330610636
Option 3 ID : 264330610638
Option 4 ID : 264330610637
Status : Answered
Chosen Option : 3
Q.5 Read the given statement(s) and conclusions carefully. Assuming that the information given in the statements is true,
even if it appears to be at variance with commonly known facts, decide which of the given conclusions logically
follow(s) from the statement(s).
Statements: Some dogs are bats. Some bats are cats
Conclusions:
(1) Some dogs are cats.
(I) Some cats are dogs.
Ans % 1. Both conclusions (1) and (I1) are follows.
X 2. Only conclusion (11) is follows.
+ 3. Neither conclusion (1) nor (1) is follows.
X 4. Only conclusion (1) is follows.
Question ID : 264330154428
Option 1 ID : 264330605178
Option 2 ID : 264330605176
Option 3 ID : 264330605177
Option 4 ID : 264330605175
Status : Answered
Chosen Option : 3
Q.6 Read the given starements and conclusions carefully. You have to take the given statements to be true even if they seem
to be at vadance from commonly known facts. You bave to decide which conclusion's logically follow/s from the given
statenients.
Statements: Some paints are cats. All cats are dogs. Some dogs are bananas.
Conclusion I: Some paints are dogs.
Conclusion IT: Some cats are bananas.
Ans X 1. Neither conclusion (I) nor (II) is follow.
X 2. Both conclusions (I) and (II) are follow.
+ 3. Only conclusion (I) is follow.
X 4. Only conclusion (II) is follow.
Question ID : 264330155917
Option 1 ID : 264330611073
Option 2 ID : 264330611074
Option 3 ID : 264330611071
Option 4 ID : 264330611072
Status : Answered
Chosen Option : 3
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Q7 What should come in place of *?" in the given series?
7 28 91 280 7 2548 7651
Ans X 1. 823
X2 871
X 3. 861
o 4. 847
Question ID : 264330151484
Option 1 ID : 264330593563
Option 2 ID : 264330593566
Option 3 ID : 264330593565
Option 4 ID : 264330593564
Status : Answered
Chosen Option : 4
Q.8 What will come in the place of the question mark (7) in the following equation, if’ *+* and *~* are interchanged and *»°
and *+ are interchanged?
1+5+2-505%5="2
Ans X 1. 106
X2 102
X3 104
« 4 108
Question ID : 264330154615
Option 1 ID : 264330605925
Option 2 ID : 264330605923
Option 3 ID : 264330605924
Option 4 ID : 264330605926
Status : Answered
Chosen Option : 4
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Q.9

Ans

Which figure should replace the question mark (7] if the following figure series were to be continued?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

264330154756
264330606488
264330606487
264330606490
264330606489

Not Attempted and
Marked For Review
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Select the option figure in which the given figure (X) is embedded as its part

(rotation is NOT allowed).
(X)
Ans
x 1. PN
b

(o

\L

Question ID : 264330151724
Option 1 ID : 264330594523
Option 2 ID : 264330594525
Option 3 ID : 264330594526
Option 4 ID : 264330594524
Status : Answered
Chosen Option : 2
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QM YWhat should come in place of *?" in the given series?

11 39 125 375 1131 7
Ans 1. 3399

X 2. 3499

X3 3187

X4 3417

Question ID : 264330151458
Option 1 ID : 264330593460
Option 2 ID : 264330593462
Option 3 ID : 264330593459
Option 4 ID : 264330593461
Status : Answered
Chosen Option : 1

Q.12 What should come in place of ? in the given series based on the English alphabetical order?

ESP, CRN, AQL, YPJ. ?
Ans X 1. YMG

X2 YNI

« 3. WOH

X 4 ZNG

Question ID : 264330155788
Option 1 ID : 264330610556
Option 2 ID : 264330610555
Option 3 ID : 264330610557
Option 4 ID : 264330610558
Status : Answered
Chosen Option : 3

Q.13  Select the combination of letters that when sequentially placed in the blanks of the given series, will complete the series.
A_AA__AD_ DA
Ans X 1. AADDA
« 2. DDAAA
X 3. ADDAD
X 4 DAADD

Question ID : 264330151638
Option 11D : 264330594179
Option 2 ID : 264330594180
Option 3 ID : 264330594181
Option 4 ID : 264330594182

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Q.14  select the correct mirror image of the given figure when the mirror is placed at MI as shown below.
M

Gr37m2s

N
Ans X1 22 WV ETID

x228m7 E1G
s328mY&E1D
X4+ 2smVELID

Question ID : 264330151529
Option 1 ID : 264330593744
Option 2 ID : 264330593745
Option 3 ID : 264330593746
Option 4 ID : 264330593743
Status : Answered
Chosen Option : 3

Q.15 Seven people, C, F, D, K, O, L, and V are sitting in a straight line, facing south. V sits
second to the right of F. Only three people sit to the right of O. K is an immediate

neighbour of O and D. Only three people sit between L and V. F is not an immediate
neighbour of L.

Who sits to the extreme left of the line?
Ans X 1.C

& 2.F
X3V
X 4.D

Question ID : 264330161698
Option 1 1D : 264330634121
Option 2 ID : 264330634120
Option 3 ID : 264330634122
Option 4 ID : 264330634119

Status : Not Attempted and
" Marked For Review

Chosen Option : ==

Q.16 The position of how many letters will remain unchanged if each of the letter in the word *GRAPES” is arranged in
alphabetical order?

Ans X' 1 One
# 2. None
X 3. Four
W 4 Two

Question ID : 264330154321
Option 1 1D : 264330604750
Option 2 ID : 264330604748
Option 3 ID : 264330604747
Option 4 ID : 264330604749
Status : Answered
Chosen Option : 4
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given code language?

Q.17 1Ina cermin code language, “WHAT' is coded as 5208 and *THAN is coded as 9826 What is the code for *“W in the

Ans X 1. 2
2.5
X3 2
X406
Question ID : 264330155869
Option 1 ID : 264330610880
Option 2 ID : 264330610882
Option 3 ID : 264330610879
Option 4 ID : 264330610881
Status : Answered
Chosen Option : 2
Q.18 EITI is related to EMWL in a certain way based on the English alphabetical order. In the same way. HDRL is related to
KGUO. To which of the following is OCGM related 1o, following the same logic?
Ans X 1. RFIO
X 2. SEKO
« 3. RFIP
X 4. QEIR
Question ID : 264330151668
Option 1 ID : 264330594302
Option 2 ID : 264330594301
Option 3 ID : 264330594300
Option 4 ID : 264330594299
Status : Answered
Chosen Option : 3
Q.19 Select the set in which the numbers are related in the same way as are the numbers of the following sets.
(NOTE : Operations should be performed on the whole numbers, without breaking down the numbers into its
constituent digits. E.g. 13 — Operations on 13 such as adding / subtracting /multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed)
(14, 13, 32)
(21, 13, 39)
Ans 115 7,18
v 2 19,12, 36
X3 5, 19, 88
X4 11, 14, 43
Question ID : 264330151609
Option 1 ID : 264330594066
Option 2 ID : 264330594064
Option 3 ID : 264330594065
Option 4 ID : 264330594063
Status : Answered
Chosen Option : 2
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NBX, MEW, LHV, KKU, ?

Q.20 What should come in place of ? in the given series based on the English alphabetical order?

Chosen Option :

Ans X 1. HMS
o 2. JNT
X 3. IMR
< 4. HNS
Question ID : 264330155792
Option 1 ID : 264330610571
Option 2 ID : 264330610572
Option 3 ID : 264330610573
Option 4 ID : 264330610574
Status : Answered
Chosen Option : 2
Section : General Awareness
Q.1 Who inaugurated the 2023 World Squash Championships that was held in India?
Ans X 1. KN Nehru
& 2. K Ponmudi
& 3.EV Velu
" 4. Udhayanidhi Stalin
Question ID : 264330161128
Option 1 ID : 264330631843
Option 2 ID : 264330631846
Option 3 ID : 264330631845
Option 4 ID : 264330631844
Status : Marked For Review

4

Ans

Q.2 Who among the following is primarily regarded as a maestro of Hindustani classical music?
+ 1. Bade Ghulam Ali Khan

< 2. Mavelikkara Prabhakara Varma

X 3. Sampagodu Vighnaraja

X 4. Sai Vignesh

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

1264330155473

264330609295

1 264330609296

264330609297

1 264330609298

Answered
1
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Ans

Q.3 What is ‘Mahawat’ in India?

5 1. Cold waves during the winter season
#< 2. Cloud burst during the monsoon season
4 3. Cyclonic rainfall during the winter season

< 4. Hot and dry winds during the summer season

Question ID
Option 1 ID

Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1264330161521
1264330633412
264330633414
264330633411
264330633413
Marked For Review
1

Q.4

Ans

Who among the following is the author of the book *Selection Day’?

X 1. Vikram Seth

« 2. Aravind Adiga
X 3. Chetan Bhagat
X 4. Amish Tripathi

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330155456
264330609228
264330609227
264330609230
264330609229
Marked For Review
2

Q.5 Which Article of the Constitution of India deals with the organization of village

Chosen Option :

panchayat?
Ans X 1.Article 38
X 2. Article 45
«" 3. Article 40
< 4. Article 36
Question ID : 264330159905
Option 11D : 264330626967
Option 2 ID : 264330626969
Option 3 ID : 264330626968
Option 4 ID : 264330626970
Status : Answered
Chosen Option : 3
Q.6 Bharati Shivaji and Kanak Rele are exponents of
Ans X 1. Manipuri
«# 2. Mohiniyattam
< 3. Kathak
5 4. Odissi
Question ID : 264330160852
Option 1 1D : 264330630742
Option 2 ID : 264330630741
Option 3 ID : 264330630740
Option 4 ID : 264330630739
Status : Marked For Review

1
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Ans

veins associated with volcanic activity and hot springs?
5 1. Diaspore

25 2. Siderite
" 3. Cinnabar
< 4. Corundum

Q.7 Which is the most common ore of oxidised mercury that occurs in granular crusts or

Question ID

Option 2 ID

1264330161402
Option 11D :

264330632936

1 264330632935
Option 31D :
Option 4 ID :

Status :

Chosen Option :

264330632938
264330632937
Marked For Review
3

Q.8 Women's World Boxing Championship 2023 was held in which city in India?

Chosen Option :

Ans X 1.Goa
25 2. Punjab
«" 3. New Delhi
& 4. Gujarat
Question ID : 264330158239
Option 1 ID : 264330620318
Option 2 ID : 264330620317
Option 3 ID : 264330620315
Option 4 ID : 264330620316
Status : Answered
Chosen Option : 3
Q.9 Who is regarded as the ‘Mother of Indian Revolution’?
Ans X 1.Annie Besant
< 2. Usha Mehta
" 3. Madame Cama
< 4. Kasturba Gandhi
Question ID : 264330162343
Option 1 ID : 264330636699
Option 2 ID : 264330636702
Option 3 ID : 264330636700
Option 4 ID : 264330636701
Status : Marked For Review

1

Ans

Q.10 Which microscopic, single-celled photosynthetic organisms are known as the primary

producers of the ocean - the organisms that form the base of the aquatic food chains?

«" 1. Phytoplankton
5 2. Zooplankton

< 3. Bacterioplankton
25 4. Virioplankton

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330160993
264330631304
264330631305
264330631303
264330631306
Answered

1
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Q.11 Which of the following novels is correctly paired with its author?
Ans X 1. The Shadow Lines — RK Narayan

#< 2. Malgudi Days — Vikram Seth
" 3. The Namesake — Jhumpa Lahiri
25 4. Train to Pakistan — Amitav Ghosh

Question ID : 264330161758
Option 1 ID : 264330634360
Option 2 ID : 264330634361
Option 3 ID : 264330634362
Option 4 ID : 264330634359
Status : Marked For Review
Chosen Option : 3

Q.12 Which of the following is a communication mail channel in India?
Ans X 1. Pink channel

#< 2. Yellow channel
25 3. Red channel
«" 4. Green channel

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330160145
264330627919
264330627920
264330627921
264330627922
Marked For Review
4

Q.13 Under the umbrella of Ujjwal Bharat Ujjwal Bhavishya—Power @ 2047, the PM
inaugurated which of the following 100 MW Solar Projects in Telangana?

Ans X 1.Jurala Solar Power Plant
25 2. ReNew Solar Power Plant
" 3. Ramagundam Floating Solar Project

£ 4. Dharmaraopet Solar Power Plant

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330161406
264330632953
264330632951
264330632954
264330632952
Marked For Review
3

Q.14 What is the name of the geographic feature that serves as a boundary between Europe

and Africa?

Ans X 1.Bosporus Strait
# 2. Strait of Gibraltar
< 3. Dardanelles Strait
#< 4. Malacca Strait

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330161327
264330632636
264330632635
264330632638
264330632637
Answered

2
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Ans

< 1. Amubi Singh
+ 2. Pandit Birju Maharaj

& 3. Dr. Kanak Rele
& 4. Dr. Minati Mishra

Q.15 Who among the following dancers is associated with Indian classical dance form of Kathak?

Question ID : 264330155532
Option 1 ID : 264330609532
Option 2 ID : 264330609531
Option 3 ID : 264330609534
Option 4 ID : 264330609533
Status : Answered
Chosen Option : 2
Q.16 What is the primary purpose of microfinance institutions (MFIs) in India?
Ans X 1. To promote consumer spending among middle-class households
25 2. To offer financial services exclusively to large businesses
«# 3. To provide small loans to low-income individuals
5 4. To facilitate foreign investment in the Indian economy
Question ID : 264330157289
Option 1 ID : 264330616521
Option 2 ID : 264330616520
Option 3 ID : 264330616519
Option 4 ID : 264330616522
Status : Answered
Chosen Option : 3
Q.17 Which of the following is true about transfer payments in relation to personal income?
Ans  * 1. Transfer payments are included in personal income.
2 2. Transfer payments have no impact on personal income.
#< 3. Transfer payments are included in personal income only for businesses.
5 4. Transfer payments are excluded from personal income.
Question ID : 264330157320
Option 1 ID : 264330616643
Option 2 ID : 264330616645
Option 3 ID : 264330616646
Option 4 ID : 264330616644
Status : Marked For Review
Chosen Option : 1
Q.18 Who among the following reformers initially set up a school for girls in Calcutta?
Ans X 1.Narayana Guru
25 2. Mahatma Phule
#5 3. Swami Dayanand Saraswati
" 4. Ishwar Chandra Vidyasagar
Question ID : 264330160888
Option 1 ID : 264330630883
Option 2 ID : 264330630886
Option 3 ID : 264330630884
Option 4 ID : 264330630885
Status : Answered
Chosen Option : 4
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Q.19 Bharhut Stupa is located in which of the following states?
Ans X 1.Punjab

" 2. Madhya Pradesh
#< 3. Uttar Pradesh
X 4. Bihar

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330160757
264330630359
264330630362
264330630360
264330630361
Marked For Review
4

years at the Digambara sacred complex at
Ans X 1. Keelakuilkudi

< 2. Jinanathapura
«" 3. Shravanabelagola
5 4. Puliyarmala

Q.20 The most famous of all Jain festivals, Mahamastakabhisheka is performed every 12
in Karnataka.

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

264330161348
264330632719

1264330632722
Option 31D :

264330632721

1264330632720
Status :
Chosen Option :

Marked For Review
3

Q.21 Which religion has the maximum number of followers in Bhutan?
Ans X 1.Hindu

Chosen Option :

X 2. Islam

4" 3. Buddhism

#< 4. Christian
Question ID : 264330161564
Option 1 ID : 264330633586
Option 2 ID : 264330633583
Option 3 ID : 264330633584
Option 4 ID : 264330633585

Status : Answered
Chosen Option : 3
Q.22 The Madhavpur fair is held at
Ans X 1.Bhatinda

25 2. Moradabad

" 3. Porbandar

X 4. Jaisalmer
Question ID : 264330159085
Option 1 ID : 264330623700
Option 2 ID : 264330623699
Option 3 ID : 264330623701
Option 4 ID : 264330623702

Status : Marked For Review

2
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inspiring generations of players.
Ans X 1.Rani Rampal

#< 2. Vandana Katariya
25 3. Savita Punia

" 4. Pritam Siwach

Q.23 The former captain of the Indian women’s hockey team was conferred with
the BBC Lifetime Achievement Award for her contribution to Indian sports and

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330161436
264330633074
264330633073
264330633072
264330633071
Marked For Review
1

Q.24 Who among the following is a Bharatanatyam and Kathakali dancer?
Ans X 1. Padma Subrahmanayam

#5 2. Sonal Mansingh
& 3. Shovana Narayan
" 4. Mrinalini Sarabhai

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330159065
264330623622
264330623621
264330623620
264330623619
Marked For Review
4

Court for the enforcement of the fundamental rights?
Ans X 1.Article 21

«" 2. Article 32
#< 3. Article 25
< 4. Article 29

Q.25 Which Article of the Constitution of India guarantees the right to move the Supreme

Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID :
Status :

Chosen Option :

264330159918

1264330627019

264330627022

1 264330627020

264330627021
Answered
2

Section : English Language and Comprehension
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Ans

Q.1 Parts of the following sentence have been given as options. Select the option that
contains an error.

Existentialism has a reputation for being angst-ridden and gloomy mostly because of

its emphasis on pondering the meaningless of existence.

«" 1. on pondering the meaningless of existence
#5 2. mostly because of its emphasis
X 3. Existentialism has a reputation

£5 4. for being angst-ridden and gloomy

Question ID : 264330153605
Option 1 1D : 264330601906
Option 2 ID : 264330601905
Option 3 ID : 264330601903
Option 4 ID : 264330601904
Status : Answered
Chosen Option : 1
Q.2 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
To preparing_the vine for plant, it should be cut back to 2 ft.
Ans X 1.prepares in vine in plant
#< 2. prepare a vine in planting
5 3. prepared the vine of plant
«" 4. prepare the vine for planting
Question ID : 264330153484
Option 1 ID : 264330601451
Option 2 ID : 264330601453
Option 3 ID : 264330601454
Option 4 ID : 264330601452
Status : Answered
Chosen Option : 4
Q.3 Select the most appropriate ANTONYM of the word given in brackets to fill in the
blank.
The student provided her English teacher a short and (incoherent) account
of her journey to Shimla with her parents.
Ans X 1.humble
¥ 2. lucid
#< 3.rough
& 4. genuine
Question ID : 264330152698
Option 1 ID : 264330598395
Option 2 ID : 264330598398
Option 3 ID : 264330598396
Option 4 ID : 264330598397
Status : Answered
Chosen Option : 2
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Ans

«" 1. an information about
#5 2. the missing necklace
& 3. give you
X 4. 1wantto

Q.4 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
| want to / give you / an information about / the missing necklace.

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330153420
264330601213
264330601214
264330601212
264330601211
Marked For Review
1

Ans

Q.5 Identify the most appropriate meaning of the given word.
Ancient

" 1. Antique
< 2. Unworn

#< 3. Contemporary

< 4. Recent
Question ID : 264330152573
Option 1 ID : 264330597895
Option 2 ID : 264330597897
Option 3 ID : 264330597896
Option 4 ID : 264330597898

Status : Answered
Chosen Option : 1
Q.6 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
They are sell their company’s products to people.
Ans X 1. are sell the company

«# 2. are selling their company’s

2 3. was sell the company’s

5 4. is selling they company’s
Question ID : 264330153474
Option 1 ID : 264330601414
Option 2 ID : 264330601413
Option 3 ID : 264330601412
Option 4 ID : 264330601411

Status : Answered
Chosen Option : 2
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Q.7 Select the most appropriate meaning of the underlined idiom.

Ans " 1. An active and energetic person
# 2. Adull and insipid person
#< 3. To be good and beneficial for someone

5 4. Atalkative person

Mary is a ball of fire and is always engaged in something creative.

Question ID : 264330151831
Option 1 ID : 264330594952
Option 2 ID : 264330594951
Option 3 ID : 264330594953
Option 4 ID : 264330594954
Status : Answered
Chosen Option : 1
Q.8 Select the most appropriate idiom to fill in the blank.
By living in a rural area with access to the city, she gets
Ans " 1. the best of both worlds
#5 2. to keep an ear to the ground
25 3. on cloud nine
£ 4.in for a penny in for a pound
Question ID : 264330151890
Option 1 ID : 264330595180
Option 2 ID : 264330595181
Option 3 ID : 264330595179
Option 4 ID : 264330595182
Status : Answered
Chosen Option : 1
Q.9 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
The cats food bowl was empty, so he meowed incessantly until his owner finally filled
it with fresh kibble.
Ans X 1.The cats’
& 2. Acat’s
< 3.Acats’
" 4. The cat’s
Question ID : 264330151856
Option 1 ID : 264330595043
Option 2 ID : 264330595044
Option 3 ID : 264330595046
Option 4 ID : 264330595045
Status : Answered
Chosen Option : 4
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Ans

Q.10 Select the most appropriate meaning of the given idiom.
Get your act together

25 1. To have patience
& 2. To stay together
#< 3.To actin a play

" 4. Get organised and do things better

Question ID

Option 2 ID

1264330152726
Option 11D :

264330598504

1 264330598506
Option 31D :
Option 4 ID :

Status :

Chosen Option :

264330598503
264330598505
Marked For Review
4

Q.11 Select the option that can be used as a one-word substitute for the given group of

Chosen Option :

words.
Unpleasant
Ans X 1. Nebulous
75 2. Natal
5 3. Negligible
" 4. Nasty
Question ID : 264330151909
Option 1 ID : 264330595253
Option 2 ID : 264330595251
Option 3 ID : 264330595254
Option 4 ID : 264330595252
Status : Answered
Chosen Option : 4
Q.12 The following sentence has been divided into four parts. Identify the part that contains
an error.
(A) The mother exclaimed / (B) when she saw her son / (C) stumble on the race track, /
(D) “Look, he fells!”
Ans X 1.B
2D
X 3.C
K 4A
Question ID : 264330152629
Option 1 ID : 264330598122
Option 2 ID : 264330598119
Option 3 ID : 264330598121
Option 4 ID : 264330598120
Status : Marked For Review

2
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Q.13 Select the most appropriate option that can rectify the underlined segment in the given
sentence. If there is no need to rectify it, select ‘no rectification needed’.

The conductor said that it was the worse quake he ever knew.
< 1. more bad

& 2. bad

Ans

#< 3. no rectification needed

" 4. worst
Question ID : 264330153466
Option 1 ID : 264330601380
Option 2 ID : 264330601379
Option 3 ID : 264330601382
Option 4 ID : 264330601381
Status : Answered
Chosen Option : 4
Q.14 Select the most appropriate meaning of the underlined idiom in the following
sentence.
After having invested so much time and energy into the project, we are now back to
square one.
Ans X 1. Not ready for the consequence
< 2. In the same city
#5 3. Fighting with each other
«# 4. Having to start all over again
Question ID : 264330153049
Option 1 ID : 264330599766
Option 2 ID : 264330599763
Option 3 ID : 264330599765
Option 4 ID : 264330599764
Status : Answered
Chosen Option : 4
Q.15 Select the option that can be used as a one-word substitute for the given group of
words.
Killing of one’s own father
Ans X 1. Matricide
#5 2. Filicide
" 3. Patricide
2< 4. Suicide
Question ID : 264330151813
Option 1 1D : 264330594879
Option 2 ID : 264330594881
Option 3 ID : 264330594880
Option 4 ID : 264330594882
Status : Answered
Chosen Option : 3
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errors.

suite the larger picture.

suit the larger picture.

suite the larger picture.

suite the larger picture.

suite the larger picture.

Q.16 The sentence given below has spelling errors. Select the sentence without spelling

Though we read and hear a lot on green initiattive, we hardly tweak our routines to
Ans  * 1. Though we read and hear a lot on green initiatives, we hardly tweak our routines to
25 2. Throug we read and hear a lot on green initiatives, we hardly tweak our routines to
& 3. Though we read and hear a lot on green initiatives, we hardly tweek our routines to

< 4. Though we read and hear a lot on green iniciatives, we hardly tweak our routines to

Question ID : 264330153221
Option 1 ID : 264330600443
Option 2 ID : 264330600444
Option 3 ID : 264330600446
Option 4 ID : 264330600445
Status : Answered
Chosen Option : 1
Q.17 Select the most appropriate synonym of the bracketed word in the following sentence
to fill in the blank.
The athlete’s injury was a (defeat) for the team’s chances of winning the
championship.
Ans X 1.progression
5 2. breakthrough
/5 3.stress
" 4. setback
Question ID : 264330152651
Option 1 ID : 264330598209
Option 2 ID : 264330598208
Option 3 ID : 264330598210
Option 4 ID : 264330598207
Status : Answered
Chosen Option : 4
Q.18 Select the INCORRECTLY spelt word.
Ans X 1.Parallel
< 2. Recommend
«” 3. Irresistable
< 4. Tomorrow
Question ID : 264330152645
Option 1 ID : 264330598185
Option 2 ID : 264330598183
Option 3 ID : 264330598186
Option 4 ID : 264330598184
Status : Answered
Chosen Option : 4
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Q.19 Select the correctly spelt word.

Ans  # 1. Millennium
25 2. Milennium
25 3. Millenum
75 4. Milenium
Question ID : 264330152963
Option 1 ID : 264330599427
Option 2 ID : 264330599428
Option 3 ID : 264330599429
Option 4 ID : 264330599430
Status : Answered
Chosen Option : 1
Q.20 Select the most appropriate option that can substitute the underlined segment in the
following sentence.
She proposed to write the life history of the famous poet.
Ans X 1.novel
«# 2. biography
& 3. mythology
#< 4. autobiography
Question ID : 264330152632
Option 1 ID : 264330598134
Option 2 ID : 264330598132
Option 3 ID : 264330598133
Option 4 ID : 264330598131
Status : Answered
Chosen Option : 2
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Democracy is a form of government where the power lies (1) the people. It is based
on the principles of equality, freedom and the rule of law. In a democratic society, (2)
have the right to participate in the decision-making process, (3) directly or through
elected representatives. Democracy also allows for the (4) of individual rights and
liberties. While democracy is not without its challenges, such as the need to balance
competing interests and the risk of (5) movements, it remains one of the most
widely embraced forms of government around the world.
SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans X 1.towards
< 2.0n
< 3.by
o 4. with
Question ID : 264330151893
Option 1 ID : 264330595188
Option 2 ID : 264330595187
Option 3 ID : 264330595189
Option 4 ID : 264330595190
Status : Answered
Chosen Option : 2
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Democracy is a form of government where the power lies (1) the people. It is based
on the principles of equality, freedom and the rule of law. In a democratic society, (2)
have the right to participate in the decision-making process, (3) directly or through
elected representatives. Democracy also allows for the (4) of individual rights and
liberties. While democracy is not without its challenges, such as the need to balance
competing interests and the risk of (5) movements, it remains one of the most
widely embraced forms of government around the world.
SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank no. 2.

Ans X 1.lawyers
25 2. humans
25 3. politicians

" 4. citizens

Question ID : 264330151894
Option 1 1D : 264330595193
Option 2 ID : 264330595194
Option 3 ID : 264330595191
Option 4 ID : 264330595192
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Democracy is a form of government where the power lies (1) the people. It is based
on the principles of equality, freedom and the rule of law. In a democratic society, (2)
have the right to participate in the decision-making process, (3) directly or through
elected representatives. Democracy also allows for the (4) of individual rights and
liberties. While democracy is not without its challenges, such as the need to balance
competing interests and the risk of (5) movements, it remains one of the most
widely embraced forms of government around the world.
SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank no. 3.

Ans 1. either
25 2. however
< 3. neither
< 4. also

Question ID : 264330151895
Option 1 ID : 264330595196
Option 2 ID : 264330595197
Option 3 ID : 264330595198
Option 4 ID : 264330595195
Status : Answered
Chosen Option : 1
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Democracy is a form of government where the power lies (1) the people. It is based
on the principles of equality, freedom and the rule of law. In a democratic society, (2)
have the right to participate in the decision-making process, (3) directly or through
elected representatives. Democracy also allows for the (4) of individual rights and
liberties. While democracy is not without its challenges, such as the need to balance
competing interests and the risk of (5) movements, it remains one of the most
widely embraced forms of government around the world.
SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no. 4.

Ans X 1. delimitation
«# 2. protection
< 3. diversion

5 4. proscription

Question ID : 264330151896
Option 1 1D : 264330595200
Option 2 ID : 264330595199
Option 3 ID : 264330595202
Option 4 ID : 264330595201
Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Democracy is a form of government where the power lies (1) the people. It is based
on the principles of equality, freedom and the rule of law. In a democratic society, (2)
have the right to participate in the decision-making process, (3) directly or through
elected representatives. Democracy also allows for the (4) of individual rights and
liberties. While democracy is not without its challenges, such as the need to balance
competing interests and the risk of (5) movements, it remains one of the most
widely embraced forms of government around the world.
SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no. 5.

Ans X 1.marginal
X 2. elitist
«# 3. populist
< 4. negligible

Question ID : 264330151897
Option 1 ID : 264330595204
Option 2 ID : 264330595203
Option 3 ID : 264330595206
Option 4 ID : 264330595205
Status : Answered
Chosen Option : 3
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SSC MTS 2023 Tier 1 Sept 6 Shift 3 Question Paper with Answers

[Roll Number

Candidate

Name

Exam Date 06/09/2023

Exam Time 4:00 PM - 6:00 PM

Subject MTS l_\lon_Tech Havaldar CBIC and CBN
Examination 2023

Section : Numerical and Mathematical Ability

Ans 1]

& 3.

X2 7

1
X4 3:

01

3
12
4

Q.1 Inwhat ratio should wheat of 234 per lig be mixed with wheat of 226 per kg so that on selling the mixture at 236 per ke.
a profit of 20% is gained?

Question ID : 264330156511
Option 1 ID : 264330613434
Option 2 ID : 264330613432
Option 3 ID : 264330613431
Option 4 ID : 264330613433
Status : Answered
Chosen Option : 1

by a palicem

Ans

an?

X1 1-51-1 sec
4

X 2 lﬂésec

X3 131 sec
4

o 4. 12§ sec

Q.2 A thief is noticed by a policeman from a distance of 95 m. The thief starts mnning and the policeman chases him. The
thief and policeman mn at the speed of 90 km/h and 118.8 km/h, respectively. What is the time taken to carch the thief

Question ID : 264330154091
Option 1 ID : 264330603830
Option 2 ID : 264330603827
Option 3 ID : 264330603828
Option 4 ID : 264330603829
Status : Answered
Chosen Option : 4
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Q.3 A cube of side 3 cm is melted and smaller cubes of sides 1 em each are formed. How many such cubes can be formed?

Ans X 1. 72
X2 64
¥3 27
x4 8
Question ID : 264330156085
Option 1 1D : 264330611742
Option 2 ID : 264330611741
Option 3 ID : 264330611739
Option 4 ID : 264330611740
Status : Answered
Chosen Option : 3
Q.4 What is the average of the prime numbers between 46 and 99, correct to two decimal places?
Ans X 1. 80.27
X2 8270
& 3. 70.82
X 4. 72,80
Question ID : 264330156545
Option 11D : 264330613567
Option 2 ID : 264330613570
Option 3 ID : 264330613568
Option 4 ID : 264330613569
Status : Answered
Chosen Option : 4
Q5 fg:p=3:2andb:c=5:4.thena:b:c is
Ans X 1.11:8:10
X2 8:10:15
&3 15:10:8
X4 7:10:15
Question ID : 264330154082
Option 11D : 264330603791
Option 2 ID : 264330603792
Option 3 ID : 264330603794
Option 4 ID : 264330603793
Status : Answered
Chosen Option : 3
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Ans 1. 2056

Q.6  Find the least number which when divided by 19, 36 and 54 leaves a remainder of 4 in each case.

X< 2. 1854
X3 2172
X 4. 1925
Question ID : 264330155723
Option 1 ID : 264330610297
Option 2 ID : 264330610295
Option 3 ID : 264330610298
Option 4 ID : 264330610296
Status : Answered
Chosen Option : 1
Q.7 InApril. Mr Khan observed that his balance in his bank account is 25,600 for the first 24 davs, 212.000 for the next two
days and F37.500 in the last 4 davs of the month. What is his daily average balance for April?
Ans 1 210,280
X 2. 215280
X 3. 210,480
<4 214,280
Question ID : 264330154117
Option 1 ID : 264330603933
Option 2 ID : 264330603931
Option 3 ID : 264330603934
Option 4 ID : 264330603932
Status : Answered
Chosen Option : 1
Q8 The areas of three adjacent faces of a cuboid are p, g and r unit?, respectively. What is its volume?
Ans > 1. p3g°r? unit?
« 2. /pqr unit?
X 3. pgr unit®
X 4. 3/pgr unit®
Question ID : 264330154139
Option 1 ID : 264330604022
Option 2 ID : 264330604021
Option 3 ID : 264330604020
Option 4 ID : 264330604019
Status : Answered
Chosen Option : 2
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successive years is 4% per annum and 5% per annum, respectively?

Q.9 What will be the amount due on ¥24,000 in 2 years when the rate of simple interest on

Ans X 1.%24,960
2 2.%25,200
#< 3.%26,208
o 4.%26,160
Question ID : 264330159035
Option 1 1D : 264330623500
Option 2 ID : 264330623502
Option 3 ID : 264330623499
Option 4 ID : 264330623501
Status : Answered
Chosen Option : 4
Q.10 Aslam can do a work in 20 days and Bansi in 30 days. If they wouk on it together for 5 days, then, what is the fraction of
the remaining work?
Ans 7
X1 —
13
7
2. —
v 12
11
X3 —=
12
3
4. —
x 1z
Question ID : 264330156115
Option 1 ID : 264330611862
Option 2 ID : 264330611861
Option 3 ID : 264330611860
Option 4 ID : 264330611859
Status : Answered
Chosen Option : 2
Q.11 The pie chart shows the percentage of students studying in different courses in a college.
The degree measure of angle for students studying in BBA is:
Ans X' 1 37@
X2 36°
X 3. 48.8°
o 4. 28.8°
Question ID : 264330154068
Option 1 ID : 264330603735
Option 2 ID : 264330603736
Option 3 ID : 264330603738
Option 4 ID : 264330603737
Status : Answered
Chosen Option : 4
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Q.12 gonam covers 230 km in 5 hours. What distance (in km) will she cover in 9 hours?

Ans X' 1. 484
X2 454
X3 424
4. 414
Question ID : 264330155750
Option 1 ID : 264330610403
Option 2 ID : 264330610404
Option 3 ID : 264330610405
Option 4 ID : 264330610406
Status : Answered
Chosen Option : 4
Q.13 The income of a person first increases by 25% and then decreases by 25%. What % is the new income of the original
income?
Ans 1
X 1.91-%
4
30
v?2 93-%
4
30
X3 95204
4
1o
X4 922%
Question ID : 264330156819
Option 1 ID : 264330614654
Option 2 ID : 264330614653
Option 3 ID : 264330614652
Option 4 ID : 264330614651
Status : Answered
Chosen Option : 2
Q.14 P, @ and R can complete a piece of work in 6 days, 12 days and 15 days, respectively. P starts working alone on 1%, 4“‘,
7t Q works alone on 2™, 5t 8t and R works alone on 3, 6t 9t This pattern is continued il the work is
completed. In how much time (in days) is the entire work done?
Ans 3
X110 =
3
3
w2 9 =
1
X3 9-=
1
<410 -
Question ID : 264330153778
Option 1 ID : 264330602577
Option 2 ID : 264330602576
Option 3 ID : 264330602575
Option 4 ID : 264330602578
Status : Answered
Chosen Option : 2
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Q.15 The ratio of cost price to selling price of an article is 186 : 206. The profit per cent on it is:

Ans 50
X1 12—
93
70
X2 12—
93
70
3. 10—
v 93
50
X4 10—
93
Question ID : 264330155960
Option 1 ID : 264330611239
Option 2 ID : 264330611240
Option 3 ID : 264330611242
Option 4 ID : 264330611241
Status : Answered
Chosen Option : 3
Q.16 1.1 1.1 101 .
IfA:B=-:-,B:C==-:-andC:D=—:— ,thenA:B:C: D is:
3 5 7 8B 10 21
Ans 1. 40:24:21:10
X2 48:23:25:8
X3 8:3:7:5
X4 14:24:28:10
Question ID : 264330154083
Option 1 ID : 264330603798
Option 2 ID : 264330603795
Option 3 ID : 264330603797
Option 4 ID : 264330603796
Status : Answered
Chosen Option : 1
Q.17 The table below shows the production of transformers by five different companies in the vear 2022 from January to
Tune. Smdy the table carefillly and answer the question that follows.
Month/Company | P Q R B T
January 145 140 177 163 140
February 178 122 179 188 187
March 185 135 160 130 145
April 150 130 169 148 172
May 146 128 180 137 153
Tune 128 145 195 148 170
What is the difference between the total production of companies Q and R from the month January to June?
Ans « 1. 260
X 2. 263
X 3. 280
X 4. 283
Question ID : 264330156572
Option 1 ID : 264330613675
Option 2 ID : 264330613676
Option 3 ID : 264330613677
Option 4 ID : 264330613678
Status : Answered
Chosen Option : 1
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how much extra money did Kavita get as profit?
X 1. 5.6%; 3280

2 3.6%: 3288

X 3. 6%; 2360

X 4. 4.5%: 7308

Ans

Q.18 Kavim bought a table at 30% disconnr on its original price, She sold it with 48% increase on the price she bought it.
What is the percentage difference between the new sale price and original price? If the original price is 8,000, then

Question ID : 264330156182
Option 1 ID : 264330612127
Option 2 ID : 264330612129
Option 3 ID : 264330612130
Option 4 ID : 264330612128
Status : Not Answered
Chosen Option : --
Q.19 ‘What sum of money invested at 8% per annmm in ]f years, compounded half-yearly, shall become 217.5767
Ans X 1. 216,500
X 2 % 15,000
X3 %15525
w4 315,625
Question ID : 264330156079
Option 1 ID : 264330611715
Option 2 ID : 264330611716
Option 3 ID : 264330611718
Option 4 ID : 264330611717
Status : Answered
Chosen Option : 4
Q20 gimplify:
(15=-3)=-5+(18+-9)x3+(24-6)x(b+-4)="7
Ans 1. 12
X21
X3 16
<421
Question ID : 264330156427
Option 1 ID : 264330613102
Option 2 ID : 264330613099
Option 3 ID : 264330613101
Option 4 ID : 264330613100
Status : Answered
Chosen Option : 1

Section : Reasoning Ability and Problem Solving
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Q.1 CZMB is related 1o NNAM in a certain way based on the English alphabetical order. In the same way, LKQD is related
to WRLO. To which of the following is HNTF related. following the same logic?
Ans x 1. SQ'DU
« 2. SUOQ
X 3. SOUQ
X 4. SUQO
Question ID : 264330154181
Option 1 ID : 264330604189
Option 2 ID : 264330604188
Option 3 ID : 264330604187
Option 4 ID : 264330604190
Status : Answered
Chosen Option : 2
Q.2 Select the combination of letters that when sequentially placed in the blanks of the given series will make it
logically complete.
ACF GII_ M_PR _UVX YA D
Ans 1. LODBS
X 2. DKOBS
« 3. DLOSB
X 4 HFBHC
Question ID : 264330156316
Option 1 ID : 264330612666
Option 2 ID : 264330612665
Option 3 ID : 264330612664
Option 4 ID : 264330612663
Status : Answered
Chosen Option : 3
Q.3 If 16 September 1980 is a Tuesday. then what will be the day of the week on 3 September 19857
Ans 1. Tuesday
X 2. Saturday
X 3. Friday
X 4. Sunday
Question ID : 264330154349
Option 1 ID : 264330604860
Option 2 ID : 264330604861
Option 3 ID : 264330604859
Option 4 ID : 264330604862
Status : Answered
Chosen Option : 1




www.prepp.in

Q.4 What will come in the place of 7" in the following equation, if ‘+’ and ‘— are interchanged and “<" and ‘+ are

interchanged?
321 x3+81-12+8="7
Ans X 1. 132
2 122
X3 142
x4 112
Question ID : 264330155672
Option 1 ID : 264330610092
Option 2 ID : 264330610091
Option 3 ID : 264330610093
Option 4 ID : 264330610094
Status : Answered
Chosen Option : 2
Q.5 What should come in place of ? in the given series based on the English alphabetical order?
KFY, LGA, MHC, NIE, ?
Ans & 1. OJIG
X 2. MIH
X 3. NIG
X 4. MKI
Question ID : 264330155773
Option 1 ID : 264330610498
Option 2 ID : 264330610497
Option 3 ID : 264330610495
Option 4 ID : 264330610496
Status : Answered
Chosen Option : 1
Q.6 Read the given st ts and conclusions carefully. You have to take the given statements to be true even if they seem
to be at variance from commonly known facts. You have to decide which conelusion/'s logically follow's from the given
statements.
Statements: Some bats are curtains. All curtains are yellow. All vellow are pens.
Conclusion [: All yellow are curtains.
Conclusion IT: Some pens are curtains.
Ans X 1. Only conclusion (I) is follow.
X 2. Both conclusions (I) and (II) are follow.
X 3. Neither conclusion (I) nor (II) is follow.
« 4. Only conclusion (II) is follow.
Question ID : 264330155910
Option 1 ID : 264330611043
Option 2 ID : 264330611046
Option 3 ID : 264330611045
Option 4 ID : 264330611044
Status : Answered
Chosen Option : 4
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Q.7 What should come in place of ? in the given series based on the English alphabetical order?
HWC,KUD, NSE. QQF. ?
Ans X 1. RMH
X 2. ROF
X 3. SNH
« 4 TOG
Question ID : 264330155803
Option 1 ID : 264330610617
Option 2 ID : 264330610618
Option 3 ID : 264330610616
Option 4 ID : 264330610615
Status : Answered
Chosen Option : 4
Q.8 27isrelated to 36 following a certain logic. Following the same logic, 69 is related to 78. To which of the following is 53
related to, following the same logic?
Ans X 1. 63
X2 64
3 B2
<461
Question ID : 264330151598
Option 1 ID : 264330594021
Option 2 ID : 264330594022
Option 3 ID : 264330594020
Option 4 ID : 264330594019
Status : Answered
Chosen Option : 3
Q9 What should come in place of ? in the given series?
36 54 50 48 44 ?
Ans X 1. 40
X 2 38
@3 42
x4 30
Question ID : 264330151718
Option 1 ID : 264330594499
Option 2 ID : 264330594501
Option 3 ID : 264330594500
Option 4 ID : 264330594502
Status : Answered
Chosen Option : 3
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Q.10

R S. T. U, V. W, X and Y are sitting around a square table facing the center of the table. Some of them are sitring at the
corners while some are sitting at the exact center of the sides. R is the immediate neighbour of X and Y. X sits in any of
the corners. W sits third to the right of T. T does not =it in anv of the corners. U is the immediate neighbour of Y and
WV is not the neighbour of W,

How many people sit between W and T, when counted from the right of W?

Ans 1. Four
X 2. Five
X 3. Two
X 4. Three
Question ID : 264330155540
Option 1 ID : 264330609564
Option 2 ID : 264330609563
Option 3 ID : 264330609566
Option 4 ID : 264330609565
Status : Answered
Chosen Option : 1
Q.11  If *P’stands for *=", *Q stands for *+7, ‘R’ stands for *-" and *3’ stands for *+7, what will come in place of the guestion
mark (?) in the following equation?
WES6PIRI2ZSISPERTO="7
Ans 1111
< 2 88
X3 9]
X4 119
Question ID : 264330151791
Option 1 ID : 264330594791
Option 2 ID : 264330594793
Option 3 ID : 264330594792
Option 4 ID : 264330594794
Status : Answered
Chosen Option : 1
Q12 \what should come in place of ? in the given series?
101 104 109 116 125 ?
Ans 1. 136
X2 134
<3 135
X 4133
Question ID : 264330151545
Option 1 ID : 264330593810
Option 2 ID : 264330593808
Option 3 ID : 264330593809
Option 4 ID : 264330593807
Status : Answered
Chosen Option : 1
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related to, following the same logic?

Q.13 28isrelated to 12 following a certain logic. Following the same logic, 42 is related to 19.To which of the following is 52

Ans X 1. 23
<2 25
3 24
x4 22
Question ID : 264330151584
Option 1 ID : 264330593964
Option 2 ID : 264330593966
Option 3 ID : 264330593965
Option 4 ID : 264330593963
Status : Answered
Chosen Option : 3
Q.14 select the correct mirror image of the given figure when the mirror is placed at MI as shown below.
M
Fdwéj2m
N
Ans
x.mS[owbF
X22mijioawhbi
v>mSiawbh3
x«+mSiamd1
Question ID : 264330151505
Option 1 ID : 264330593648
Option 2 ID : 264330593650
Option 3 ID : 264330593649
Option 4 ID : 264330593647
Status : Answered
Chosen Option : 3
Q.15 Ina certain code language. ‘MACABRE' is coded as ‘8’ and ‘HEDONISM? is coded as *9°. What is the code for
*ERUPT" in the given code langnage?
Ans X 1. by
2 6
X3 5
X4 7
Question ID : 264330155823
Option 1 ID : 264330610695
Option 2 ID : 264330610697
Option 3 ID : 264330610696
Option 4 ID : 264330610698
Status : Answered
Chosen Option : 2
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Ans

Q.16 Read the given starements and conclusions carefully. You have to take the given statements to be true even if they seem

to be at varance from commonly known facts, You have to decide which conclusion's logically follow/s from the given
statements.

Statements: All flowers are orange. Some arange is colour. All colours are bright.
Conclusion I: Some orange are flowers.

Conelusion IT: All eolour is orange.

+ 1. Only conclusion (I) is follow.
X 2. Both conclusions (I) and (II) are follow.
X 3. Only conclusion (IT) is follow.

X 4. Neither conclusion (I) nor (IT) is follow.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330155904
264330611019
264330611022
264330611020
264330611021
Answered

1
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Q.17 Which figure should replace the question mark [?) if the following figure series were to be continued?

D x v|s8 Yy 98 8 Y[t v 0D
g8 1 D x [T = |9 8 ')
9 T D =
Ans
D T ¥
A
9
9o 1 =
X2lg oy
D
Y D T
xXol. g
9
D T VY
Xalo g
8

Question ID : 264330154757
Option 11D : 264330606493
Option 2 ID : 264330606492
Option 3 ID : 264330606494
Option 4 ID : 264330606491
Status : Not Answered

Chosen Option : --




www.prepp.in

Q.18

Ans

Select the option figure in which the given figure (X) is embedded as its part (rotation is NOT allowed).

o

X)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330151728
264330594540
264330594539
264330594542
264330594541
Answered

2

Ans

How is *never’ coded in the given language?
< 1ve
<2t
« 3 fk
X 4 dg

Q.19 Inacermain code language, ‘never loze hope’ is coded as ‘m fk mb’ and "winners never quit’ is coded as *‘dg ve fk’.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330151696
264330594414
264330594411
264330594412
264330594413
Answered

3
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Q20 \what should come in place of ? in the given series?

175 180 185 190 195 ?

Chosen Option :

Ans X 1. 207
X2 204
X3 201
o 4200
Question ID : 264330151544
Option 1 ID : 264330593805
Option 2 ID : 264330593804
Option 3 ID : 264330593803
Option 4 ID : 264330593806
Status : Answered
Chosen Option : 4
Section : General Awareness
Q.1 Which of the following countries did India beat to win the Men's Hockey Junior Asia
Cup 20237
Ans X 1.South Korea
#< 2. Thailand
" 3. Pakistan
& 4. Japan
Question ID : 264330161135
Option 1 ID : 264330631872
Option 2 ID : 264330631874
Option 3 ID : 264330631871
Option 4 ID : 264330631873
Status : Answered
Chosen Option : 1
Q.2 In the realm of soil science, humus is considered:
Ans X 1.synthetic additive
" 2. decaying organic matter in soil
#5 3. mineral-rich compound
#< 4. inorganic material
Question ID : 264330161317
Option 1 1D : 264330632598
Option 2 ID : 264330632597
Option 3 ID : 264330632595
Option 4 ID : 264330632596
Status : Answered

1
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Q.3 Which group of crops belong to fibre crops and are produced on a large scale in
India?

Ans X 1.Gram and tur
¥ 2. Jute and hemp
#< 3. Tea and coffee

25 4. Wheat and rice

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330160138
264330627892
264330627894
264330627893
264330627891
Answered

1

is transmitted to human hosts through the bite of infected tsetse flies.

Ans " 1. Sleeping sickness

#5 2. Chagas disease

Q.4 Name the life-threatening disease caused by protozoa of the genus Trypanosoma that

Chosen Option :

< 3. Giardiasis
& 4. Kala-azar
Question ID : 264330161077
Option 11D : 264330631642
Option 2 ID : 264330631639
Option 3 ID : 264330631640
Option 4 ID : 264330631641
Status : Answered
Chosen Option : 4
Q.5 Who is an acclaimed Kathak dancer with many awards to his credit?
Ans X 1. Pandit Shiv Kumar Sharma
75 2. Ustad Alla Rakha
«# 3. Pandit Birju Maharaj
#< 4. Ustad Bismillah Khan
Question ID : 264330160981
Option 11D : 264330631255
Option 2 ID : 264330631257
Option 3 ID : 264330631258
Option 4 ID : 264330631256
Status : Answered
Chosen Option : 3
Q.6 ‘Pinjar’ is a novel by
Ans X 1.Kiran Desai
75 2. Kamala Das
< 3. Anita Desai
«" 4. Amrita Pritam
Question ID : 264330160969
Option 11D : 264330631209
Option 2 ID : 264330631210
Option 3 ID : 264330631208
Option 4 ID : 264330631207
Status : Answered

1
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Ans

Q.7 When was the Asian Games organised in India for the second time?

2 1. 1994
X 2.1986
o 3.1982
2 4.1998

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

264330158237
264330620309
264330620307
264330620308
264330620310
Answered

Chosen Option : 1

Ans

science, art and social service?
#5 1. The Chief Justice of India

¥ 2. The President
#< 3. The Chairman of the Rajya Sabha
75 4. The Prime Minister

Q.8 Who nominates members to the Rajya Sabha based on their excellence in literature,

Question ID : 264330161292
Option 11D : 264330632498
Option 2 ID : 264330632497
Option 3 ID : 264330632496
Option 4 ID : 264330632495
Status : Answered
Chosen Option : 2
Q.9 Which Indian musician is associated with the Flute?
Ans  # 1. Pandit Hari Prasad Chaurasia
25 2. Ustad Zakir Hussain
#< 3. Pandit Ravi Shankar
5 4. Ustad Allahrakha
Question ID : 264330162231
Option 1 1D : 264330636251
Option 2 ID : 264330636254
Option 3 ID : 264330636253
Option 4 ID : 264330636252
Status : Answered
Chosen Option : 1
Q.10 The black soil area of the is known as the Deccan Trap.
Ans X 1. Northern Plains
" 2. Peninsular Plateau
#5 3. Coastal Plains
#< 4. Himalayan Mountains
Question ID : 264330161524
Option 1 ID : 264330633424
Option 2 ID : 264330633423
Option 3 ID : 264330633426
Option 4 ID : 264330633425
Status : Answered
Chosen Option : 2
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Q.11 When did the British East India Company start the ‘permanent settlement system’?

Ans o 1.1793 CE
& 2.1773 CE
< 3.1799 CE
2 4.1780 CE
Question ID : 264330162317
Option 1 ID : 264330636597
Option 2 ID : 264330636595
Option 3 ID : 264330636598
Option 4 ID : 264330636596
Status : Answered
Chosen Option : 1
Q.12 The word ‘Swaraj’ was first used by Dadabhai Naoroji in the Congress session held in
which place?
Ans X 1.Madras
< 2. Surat
" 3. Calcutta
< 4. Lucknow
Question ID : 264330162327
Option 11D : 264330636636
Option 2 ID : 264330636635
Option 3 ID : 264330636638
Option 4 ID : 264330636637
Status : Answered
Chosen Option : 3
Q.13 Chhau, identified by the Ministry of Culture as a classical dance, is prevalent in
eastern India and has three distinct forms. Which of the following is NOT one of them?
Ans X 1. Seraikela Chhau of Jharkhand
«# 2. Marwahi Chhau of Chhattisgarh
#< 3. Purulia Chhau of West Bengal
#< 4. Mayurbhanj Chhau of Odisha
Question ID : 264330160792
Option 1 ID : 264330630500
Option 2 ID : 264330630502
Option 3 ID : 264330630501
Option 4 ID : 264330630499
Status : Answered
Chosen Option : 2
Q.14 According to the Global Multidimensional Poverty Index 2022, which of the following
states is NOT included in 10 poorest states?
Ans 1. Gujarat
X 2.Assam
#5 3. Odisha
#5 4. Uttar Pradesh
Question ID : 264330161502
Option 11D : 264330633337
Option 2 ID : 264330633335
Option 3 ID : 264330633338
Option 4 ID : 264330633336
Status : Answered
Chosen Option : 1
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freely throughout the territory of India’?

Ans X 1.Clause (b)

& 2. Clause (c)
" 3. Clause (d)
75 4. Clause (a)

Q.15 Which Clause of Article 19 of the Indian Constitution guarantees the ‘right to move

Chosen Option :

Question ID : 264330162249
Option 1 ID : 264330636324
Option 2 ID : 264330636325
Option 3 ID : 264330636326
Option 4 ID : 264330636323
Status : Answered
Chosen Option : 2
Q.16 Who among the following was a renowned player of the musical instrument called *Santoor*?
Ans X 1. Pandit Hariprasad Chaurasia
# 2. Pandit Kumar Gandharva
+ 3. Pandit Shivkumar Sharma
X 4. Pandit Ravi Shankar
Question ID : 264330155462
Option 1 1D : 264330609253
Option 2 ID : 264330609251
Option 3 ID : 264330609254
Option 4 ID : 264330609252
Status : Answered
Chosen Option : 3
Q.17 The President of India conferred the Padma Shri award to Sanathoiba Sharma for his
distinguished service in the field of in 2023.
Ans X 1.Mukna
5 2. Khong Kangijei
«# 3. Thang-Ta
#5 4. Yubi Lakpi
Question ID : 264330161444
Option 11D : 264330633105
Option 2 ID : 264330633104
Option 3 ID : 264330633103
Option 4 ID : 264330633106
Status : Answered
Chosen Option : 1
Q.18 Rikham pada dance belongs to which of the following states?
Ans X 1.Meghalaya
< 2. Assam
25 3. Mizoram
4" 4. Arunachal Pradesh
Question ID : 264330159059
Option 1 1D : 264330623597
Option 2 ID : 264330623596
Option 3 ID : 264330623598
Option 4 ID : 264330623595
Status : Answered

1
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Ans  # 1. Atomic theory
#< 2. Valence bond theory
#< 3. Quantum field theory

< 4. Molecular orbital theory

Q.19 Which theory was published by John Dalton in 1808 to explain chemical reactions?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330161057
264330631559
264330631561
264330631560
264330631562
Answered

1

Q.20 What is the main function of money in an economy?

Ans X 1.To regulate interest rates
5 2. To create wealth
" 3. To facilitate exchange

25 4. To control inflation

Chosen Option :

Question ID : 264330157297
Option 1 ID : 264330616554
Option 2 ID : 264330616552
Option 3 ID : 264330616551
Option 4 ID : 264330616553
Status : Answered
Chosen Option : 3
Q.21 Who among the following designed the India Gate?
Ans X 1. Lord Wavell
#5 2. Lord Dalhousie
" 3. Edwin Lutyens
5 4. John Nash
Question ID : 264330160773
Option 11D : 264330630423
Option 2 ID : 264330630425
Option 3 ID : 264330630424
Option 4 ID : 264330630426
Status : Answered
Chosen Option : 3
Q.22 In 2022, the Centre constituted a committee headed by former Union Agriculture
Secretary to look into the issues of minimum support price (MSP).
Ans 1. Sanjay Agrawal
& 2. P Chandrashekhar
#5 3. Radha Mohan Singh
< 4. JP Sharma
Question ID : 264330161410
Option 1 ID : 264330632968
Option 2 ID : 264330632969
Option 3 ID : 264330632967
Option 4 ID : 264330632970
Status : Answered

1
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Q.23 One of the prominent festivals celebrated in
the ancestor worship festival.

Ans 4 1. Assam
2 2. Nagaland
< 3. Manipur
5 4. Meghalaya

is the ‘Me-Dum-Me-Phi’, i.e.,

Chosen Option :

Question ID : 264330160820
Option 1 1D : 264330630611
Option 2 ID : 264330630613
Option 3 ID : 264330630614
Option 4 ID : 264330630612
Status : Answered
Chosen Option : 2
Q.24 fEfifEa ¥ A e Tole & 5T T BT IIE0 HIH-H1 32
Ans X' 1. 97U oRf @ AT
X 2. foreit Irog-warfird arelt o | fFaw
o 3. PR HHAIRGT & a1 BT YT
X 4. 50 B AT
Question ID : 264330157275
Option 1 1D : 264330616463
Option 2 ID : 264330616466
Option 3 ID : 264330616464
Option 4 ID : 264330616465
Status : Answered
Chosen Option : 2
Q25 ‘The Fall of a Sparrow’ is an autobiography of
Ans 1. Salim Al
X 2. Raj Kapoor
X 3. Kapil Dev
X 4. Atal Bihari Vajpayee
Question ID : 264330155490
Option 1 ID : 264330609364
Option 2 ID : 264330609366
Option 3 ID : 264330609365
Option 4 ID : 264330609363
Status : Answered

1

Section : English Language and Comprehension
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Q.1 Select the most appropriate meaning of the given idiom.
Be like chalk and cheese

Ans " 1. To be completely different from each other
X 2. To be very similar to each other
#< 3. To have a close relation with another person

#5 4. To be distantly related to each other

Question ID : 264330153410
Option 1 ID : 264330601175
Option 2 ID : 264330601176
Option 3 ID : 264330601177
Option 4 ID : 264330601178
Status : Answered
Chosen Option : 3
Q.2 Select the most appropriate ANTONYM of the underlined word.
Everyone liked the lively music being played at the restaurant.
Ans X 1.Durable
5 2. Cheerful
& 3. Speedy
«" 4. Sombre
Question ID : 264330153408
Option 1 ID : 264330601168
Option 2 ID : 264330601167
Option 3 ID : 264330601169
Option 4 ID : 264330601170
Status : Answered
Chosen Option : 4
Q.3 Select the INCORRECTLY spelt word.
Ans 1. Fourty
5 2. Committee
25 3. Hypnotic
75 4. Tennessee
Question ID : 264330153219
Option 1 ID : 264330600435
Option 2 ID : 264330600436
Option 3 ID : 264330600438
Option 4 ID : 264330600437
Status : Answered
Chosen Option : 1
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Q.4 Select the option that can be used as a one-word substitute for the underlined
segment in the following sentence.
Raymond has opted the study of religion as his major subject in graduation.

5 1. Psephology
#5 2. Philology
«" 3. Theology

Ans

5 4. Psychology

Question ID : 264330152715
Option 1 ID : 264330598459
Option 2 ID : 264330598461
Option 3 ID : 264330598462
Option 4 ID : 264330598460
Status : Answered
Chosen Option : 3
Q.5 Select the most appropriate idiom from the given options to fill in the blank.
Greta Thunberg when she dared to question about accountability with
respect to global warming and climate change.
Ans X 1.sowed wild oats
5 2. kept the pot boiling
25 3. gave the devil his due
«# 4. hit the nail on the head
Question ID : 264330152685
Option 1 ID : 264330598346
Option 2 ID : 264330598345
Option 3 ID : 264330598343
Option 4 ID : 264330598344
Status : Answered
Chosen Option : 1
Q.6 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.
When Rajesh was going to college, he meet with an accident.
Ans X 1.has met
< 2. meets
o 3. met
25 4. No substitution required
Question ID : 264330152727
Option 1 ID : 264330598508
Option 2 ID : 264330598507
Option 3 ID : 264330598509
Option 4 ID : 264330598510
Status : Answered
Chosen Option : 3
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option that contains an error.

As soon as | shall win the lottery, | hope to buy a Ferrari.
Ans X 1. hope

25 2.As soon as

Q.7 Parts of the following sentence have been underlined and given as options. Select the

" 3. shall win
< 4.aFerrari
Question ID : 264330159746
Option 1 ID : 264330626341
Option 2 ID : 264330626339
Option 3 ID : 264330626340
Option 4 ID : 264330626342
Status : Answered
Chosen Option : 1
Q.8 Select the most appropriate option to fill in the blank.
Some things are meant to be, and death is for humans.
Ans X 1.edible
5 2. spiral
" 3. natural
X 4. viral
Question ID : 264330153497
Option 1 ID : 264330601506
Option 2 ID : 264330601505
Option 3 ID : 264330601504
Option 4 ID : 264330601503
Status : Answered
Chosen Option : 3
Q.9 Select the option that rectifies the spelling of the underlined word in the given
sentence.
They complained that their manager was incompietent and knew nothing about the
project.
Ans X 1.incompitent
#< 2. incompeteant
< 3. incomepetent
«# 4. incompetent
Question ID : 264330152837
Option 1 ID : 264330598939
Option 2 ID : 264330598941
Option 3 ID : 264330598942
Option 4 ID : 264330598940
Status : Answered
Chosen Option : 4
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Q.10 Select the most appropriate synonym of the given word.
Distinguished

Ans X 1. Mirrored

«" 2. Dignified
#< 3. Dramatic
& 4. Mediocre
Question ID : 264330153558
Option 1 ID : 264330601733
Option 2 ID : 264330601731
Option 3 ID : 264330601732
Option 4 ID : 264330601734
Status : Answered
Chosen Option : 2
Q.11 Select the most appropriate ANTONYM of the given word.
Periodic
Ans X 1. Holistic
#5 2. Dynamic
«" 3. Irregular
5 4. Tedious
Question ID : 264330151913
Option 1 ID : 264330595269
Option 2 ID : 264330595267
Option 3 ID : 264330595270
Option 4 ID : 264330595268
Status : Answered
Chosen Option : 1
Q.12 The following sentence has been split into four segments. Identify the segment that
contains an error.
Manisha saw an old elephant / in the wildlife reserve / while she was / on safari tour.
Ans & 1. on safari tour
#5 2. Manisha saw an old elephant
25 3. while she was
#5 4. in the wildlife reserve
Question ID : 264330155316
Option 1 ID : 264330608706
Option 2 ID : 264330608703
Option 3 ID : 264330608705
Option 4 ID : 264330608704
Status : Answered
Chosen Option : 3
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Ans

«" 1. more cheaper
< 2. the food is
£ 3.than in Sri Lanka

Q.13 Parts of the following sentence have been given as options. Select the option that
contains an error.
In Nepal, the food is more cheaper than in Sri Lanka.

25 4. 1n Nepal
Question ID : 264330152799
Option 1 ID : 264330598789
Option 2 ID : 264330598788
Option 3 ID : 264330598790
Option 4 ID : 264330598787
Status : Answered
Chosen Option : 1
Q.14 Select the most appropriate option to fill in the blank.
Most times, he is sitting alone, immersed in his own
Ans X 1.synagogue
¥ 2. monologue
#< 3. mystagogue
5 4. prologue
Question ID : 264330153436
Option 1 ID : 264330601267
Option 2 ID : 264330601269
Option 3 ID : 264330601270
Option 4 ID : 264330601268
Status : Answered
Chosen Option : 2
Q.15 Identify the INCORRECTLY spelt word in the following sentence and select its correct
spelling from the given options.
He has neither the policies nor the persanol charisma to inspire people.
Ans X 1.cherisma
< 2. polecies
" 3. personal
X 4. niether
Question ID : 264330153109
Option 1 ID : 264330600002
Option 2 ID : 264330600000
Option 3 ID : 264330600001
Option 4 ID : 264330599999
Status : Answered
Chosen Option : 3
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Q.16 Select the most appropriate meaning of the underlined idiom.

The judge wanted to hear straight from the horse’s mouth.

Ans X 1. Directly from the lawyer
4" 2. Directly from the person involved
25 3. In close vicinity to the juror

£ 4. Having ears which never fail

Question ID : 264330153149
Option 1 ID : 264330600156
Option 2 ID : 264330600155
Option 3 ID : 264330600157
Option 4 ID : 264330600158
Status : Answered
Chosen Option : 2
Q.17 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.
Virtual reality is the creation of a virtual environment presented to our senses in such
a way that we experience it as if we were really there.
Ans X 1.presenting to our senses
5 2. presenting in our senses
5 3. presents to our senses
¥ 4. No substitution required
Question ID : 264330151899
Option 1 ID : 264330595212
Option 2 ID : 264330595213
Option 3 ID : 264330595211
Option 4 ID : 264330595214
Status : Answered
Chosen Option : 1
Q.18 Select the most appropriate idiom from the given options to fill in the blank.
Being a journalist, your first duty is to or else your colleagues might
surpass you.
Ans X 1.eatahumble pie
#< 2. have an axe to grind
< 3. build castles in the air
«# 4. keep your ear to the ground
Question ID : 264330152686
Option 1 ID : 264330598348
Option 2 ID : 264330598349
Option 3 ID : 264330598347
Option 4 ID : 264330598350
Status : Answered
Chosen Option : 4
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Q.19 The following sentence has been divided into four parts. Identify the part that contains

an error.
(A) He will come / (B) and receive you / (C) at the station / (D) when you will arrive.

Ans X 1.A
X 2B
X 3.C
« 4.D
Question ID : 264330152626
Option 1 ID : 264330598108
Option 2 ID : 264330598110
Option 3 ID : 264330598109
Option 4 ID : 264330598107
Status : Answered
Chosen Option : 4
Q.20 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
She is very good / in playing / the guitar / and singing songs.
Ans  # 1.in playing
£5 2. and singing songs
#< 3. the guitar
5 4. She is very good
Question ID : 264330155427
Option 1 ID : 264330609116
Option 2 ID : 264330609118
Option 3 ID : 264330609117
Option 4 ID : 264330609115
Status : Answered
Chosen Option : 3

Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Environmental pollution is a growing (1) all around the world as it poses significant
risks to human health and ecosystems. The (2) of environmental pollution vary from
natural causes such as volcanic emissions to human actions, including industrialisation,
transportation, energy production and agricultural practices. (3) of these
activities, pollutants are released into the air, water bodies and soil leading to harmful effects
such as respiratory diseases, loss of biodiversity and climate change. One of the primary
causes of environmental pollution is human attitudes towards sustainability (4) their
lack of environmental awareness. Human activities that harm the environment and ecosystem
often result from individual choices (5) driving or using single-use plastics.

SubQuestion No : 21
Select the most appropriate option to fill in blank number 1.
25 1. interest

< 2. duty
«# 3. concern

2 4. charge

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID :

Status :

Chosen Option :

: 264330153398

264330601130

: 264330601128

264330601129
264330601127
Answered

3
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Environmental pollution is a growing (1) all around the world as it poses significant
risks to human health and ecosystems. The (2) of environmental pollution vary from
natural causes such as volcanic emissions to human actions, including industrialisation,
transportation, energy production and agricultural practices. (3) of these
activities, pollutants are released into the air, water bodies and soil leading to harmful effects
such as respiratory diseases, loss of biodiversity and climate change. One of the primary

causes of environmental pollution is human attitudes towards sustainability (4) their
lack of environmental awareness. Human activities that harm the environment and ecosystem
often result from individual choices (5) driving or using single-use plastics.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.sourcing

" 2. sources

#< 3. sourced
< 4. source
Question ID : 264330153399
Option 1 1D : 264330601132
Option 2 ID : 264330601134
Option 3 ID : 264330601133
Option 4 ID : 264330601131
Status : Answered
Chosen Option : 2
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Environmental pollution is a growing (1) all around the world as it poses significant
risks to human health and ecosystems. The (2) of environmental pollution vary from
natural causes such as volcanic emissions to human actions, including industrialisation,
transportation, energy production and agricultural practices. (3) of these
activities, pollutants are released into the air, water bodies and soil leading to harmful effects
such as respiratory diseases, loss of biodiversity and climate change. One of the primary
causes of environmental pollution is human attitudes towards sustainability (4) their
lack of environmental awareness. Human activities that harm the environment and ecosystem
often result from individual choices (5) driving or using single-use plastics.
SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans X 1.Since
& 2. However
¥ 3. As aresult
25 4. Therefore
Question ID : 264330153400
Option 1 ID : 264330601136
Option 2 ID : 264330601138
Option 3 ID : 264330601137
Option 4 ID : 264330601135
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Environmental pollution is a growing (1) all around the world as it poses significant
risks to human health and ecosystems. The (2) of environmental pollution vary from
natural causes such as volcanic emissions to human actions, including industrialisation,
transportation, energy production and agricultural practices. (3) of these
activities, pollutants are released into the air, water bodies and soil leading to harmful effects
such as respiratory diseases, loss of biodiversity and climate change. One of the primary

causes of environmental pollution is human attitudes towards sustainability (4) their
lack of environmental awareness. Human activities that harm the environment and ecosystem
often result from individual choices (5) driving or using single-use plastics.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans 1. and

& 2. since
< 3. but
25 4.because
Question ID : 264330153401
Option 1 1D : 264330601139
Option 2 ID : 264330601141
Option 3 ID : 264330601140
Option 4 ID : 264330601142
Status : Answered
Chosen Option : 1
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Environmental pollution is a growing (1) all around the world as it poses significant
risks to human health and ecosystems. The (2) of environmental pollution vary from
natural causes such as volcanic emissions to human actions, including industrialisation,
transportation, energy production and agricultural practices. (3) of these
activities, pollutants are released into the air, water bodies and soil leading to harmful effects
such as respiratory diseases, loss of biodiversity and climate change. One of the primary
causes of environmental pollution is human attitudes towards sustainability (4) their
lack of environmental awareness. Human activities that harm the environment and ecosystem
often result from individual choices (5) driving or using single-use plastics.
SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans X 1.example
2 2. while
«” 3. like
#< 4.instance
Question ID : 264330153402
Option 1 ID : 264330601144
Option 2 ID : 264330601143
Option 3 ID : 264330601146
Option 4 ID : 264330601145
Status : Answered
Chosen Option : 3
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